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Q.No: 1

2413591 Approximately, what fraction of total workforce of India is engaged in agricultural and allied sector activities?

URA F T BRIGA BT AT a1 iewar oY ofR I99 Fefia &8 ot iafafrd § oria 22

42%
A

42%

55%
B

55%

65%
C

65%

75%
D

75%

Correct Ans : B

Q.No: 2
2413592 Approximately, what fraction of India's Gross Value Added (GVA) for the year 2019-20 is contributed by Agriculture and Allied Activities?

9§ 2019-20 F HRA P AT TH Jed (ST F THT [ S $T AgH $RY SR I8 wafdra i gro far wan g2

18%
A

18%

24%
B

24%

16%
C

16%

21%
D
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21%

Correct Ans : A

Q.No: 3
2413593 Approximately, what is the total food grain production in India currently?

T ¥ URT B Fo TR IAGH T e 82

296 million tonnes

A

296 it &1

332 million tonnes
B

332 i e

220 million tonnes
C

220 Ut &

220 million tonnes
D

220 faferm &=

Correct Ans : A

Q.No: 4
2413594 What is the rank of India in fruit production?

B JdEA § HRA Y -H W 87

Second

First

Third

dRRT

Fourth

=T

Correct Ans : A

Q.No: 5
2413596 Agriculture, Irrigation and Power Projects were given highest priority in which among the following plans?
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3T fry o & Y, Riwg oiR figga uRgsmre 31 wdie wrufiiea &t T2

First Five Year Plan

A
vt gieEr
Second Five Year Plan
B
o vy giemn
Third Five Year Plan
C
dradt deradfa demn
Fourth Five Year Plan
D

Tt tadfar dierE

Correct Ans : A

Q.No: 6
2413597 Which among the following is the largest source of irrigation in India, apart from rains?

i P AT 3T J PIF T R § =g &1 9ad 997 Wid 22

Tube- wells

A

ESEQs

Canals
B

T

Rivers
C

afeat

Tanks
D

GIGICE

Correct Ans : A

Q.No: 7
2413599 Which among the following is most important for agricultural productivity?

P IdEEHdr & U 378 § 71 9 oifd Agay 87
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Irrigation

A

Riarg

Rainfall
B

auf

Seeds
C

dtr

Fertilizer
D

IRP

Correct Ans : C

Q.No: 8
2413602 Which among the following fertilizers is least likely to affect the Soil pH?

Frafefea & J g 3dve & g & diva B yuifdd B3 BT HF Gl w82

Urea
A

Rock Phosphate
B

i widhe

Ammonia
C

srmfrar

Muriate of potash
D

e e dler

Correct Ans : D

Q.No: 9
2413609 In which year, the Antyodaya Anna Yojana was launched to provide highly subsidized food to millions of the poorest families

At e URART $1 srafies Rarad e HieE Suds TR & I sidigy ofF dior fog a¥ T 31 75 6t

1998

1998
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2000

B
2000
2004
C
2004
2006
D
2006

Correct Ans : B

Q.No: 10
2413610 What is the amount of food grains given to each poor family per month under the targeted public distribution system?

T o faRoT Tl % 3feia Ui e IRaR $1 ufomrg fea T foa e 82

40 kg
A

40 et

35 kg
B

35 fFar

20 kg
C

20 foat

30 kg
D

30 far

Correct Ans : B

Q.No: 11
2415300 In geology loss of soluble substances, minerals and organic colloids from the top layer of soil by percolating precipitation is called

e B RGP Saduu gRT el B SR TR A gariia yerdl @i qul S Siaigel i g dear! §

Deposition
A
o
Porosity
B
TR
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Leaching

C
it
Adsorbtion
D
sferiyor

Correct Ans : C

Q.No: 12
2415301 The T value (soil loss tolerance) refers to for a specific soil.
TG (el e W) i el e 8
soil loss by wind erosion is tolerable
A
T ¥ SRe | UeT w1 wea @
the annual soil loss by water and wind erosion that a particular soil can tolerate without degrading its long-term
productivity
B
Tt SR 71 F R / arfie e F 71 Y T AR Her st Sdeiiie Sare@dr 3t o 5 famT Wee oY aadt §
soil loss by water can be tolerated by water quality standards
C
Tt | HaT F B P\ STt YUIaNIT AT GRT T faT oI Webdl
the tension between soil particles are held and resist erosive forces
D

e & Uil & ST TG 99 IgaT B oY eRUrGRY Fal 31 faviy war @

Correct Ans : B

Q.No: 13
2415302 Displacement of upper layer of soil from one place to another and is a form of soil degradation is called

UL e BT TP WA Y G WF W R 3R 71 Ffie)u 1 i w4 Sl §

Soil fertility
A

TeT B} Fdwar

Soil porosity
B

T TSI

Soil erosion
C

Tl 3R
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Soil pollution

HaT gy

Correct Ans : C

Q.No: 14
2415303 Soil layer that is rich in iron oxide and derived from rocks weathering under oxidizing and leaching conditions-

F T gt e R i kiRt 7 smem agri @ wra it § SR die sifewrgs & 99« gt 8-

Regur soil
A

TR 7@

Alluvial soil
B

STt gat

Clay soil
C

frdt e

Lateritic
D

RRfed

Correct Ans : D

Q.No: 15
2415304 Monocropping depletes quality of soil whereas Rotation of crop is essential for

TP & TaT &1 Joradl § S St 3 el Boa &1 JeTH TP §-

Improve fertility of soil and reduces erosion

A
a1 B 4%  GUR SR Herd Y FH I &
Increasing quality of grains but decreases yield
B
ST B TUTET TGt § Afh U Ue St §
Different kinds of crops can be grown in same field
C
TF € B A fafid yoR &t wad IS o gadt §
To plough various types of crops
D

fafirs R & wadl #1 JaE w1 P o

Correct Ans : A
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Q.No: 16
2415305 The reddish colour of Red soils develops due to

T el 1w 31 F PR AR g §

Sewage disposal

A
iR Fuem
Leaching process
B
fremer ufsran
Monsoon activity
C
T nfafafy
Wide diffusion of iron in crystalline and metamorphic rocks
D

freeeiig ok Priaig gl # @g BT SAUS TR

Correct Ans : D

Q.No: 17
2415306 Which factor is related to physical and chemical conditions of soil-

P T HRE Gel 31 Hifo iR e Rufadl § w&ita 8-

T factors
A
& R
Geological factors
B
YD FRS
Biotic factors
C
Eiccacarcy
Edaphic factors
D

wfhe FRE

Correct Ans : D

Q.No: 18
2415308 The important feature of shifting cultivation is

AR Y F Agayyl faLdvar § @ 8-
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Cultivation by transplantation

A
TRIRIYU IRT Wt
Cultivation of Leguminous crops
B
aEei wdl ot Wt
Change of cultivation site
C
el a1 ufads
Rotating of crops
D

B! BT A

Correct Ans : C

Q.No: 19
2415310 What is used to Reclamation of wastelands into agricultural lands?

SR 1 1 PR ity 7 Faer I R et ST R o 3

Check dams

A
I iy
Water purifier

B
T Y B Tl 4
Rain harvesters

C
auf grdwer
Gradonies

D

Correct Ans : D

Q.No: 20
2415314 Organic agriculture is an agricultural approach that advocates healthy products and avoid use of

S Tt T B BB S TR IUET P abTad Bl @ AR ¥ IUENT | w9 g

Bio fertilizer

SR® @

Page- 9



Biological control agents for disease

B

i ¥ forg Sy A= weie

Modern technologies in harvesting and collection
C

wOd Hers 3R W # snyfie wenfie f

Chemical fertilizers and chemical pesticides
D

IS Ide R TS Pleame

Correct Ans : D

Q.No: 21
2415501 Recovery phase or transplanting shock of transplanted rice is around

TRRING o #t Revadt a1 iwiifen i B fbam e & g @

2 - 4 days
A

2-4f

4 - 10 days
B

4-10fF

10 - 15 days
C

10-15fF

15 - 20 days
D

15-20 =

Correct Ans : B

Q.No: 22
2415502 Days required for rice seedlings to transplant under dapog nursery is

SO T F 4 B Al $ ulokiw & R eawae R Ea

10
A

10

14
B

14

Page- 10



21

C
21
28
D
28

Correct Ans : B

Q.No: 23
2415503 Number of leaves considered as optimum for transplanting rice seedlings is

TR F7 & e o & diell & ufd! Y feat Sen Suged Al ol 81

1-2
A

1-2

2-3
B

2-3

3-4
o

3-4

4-5
D

4-5

Correct Ans : D

Q.No: 24
2415504 Successful traditional Basmati Rice cultivation lies on exposing of stage to cool temperature
YIF B IBA URURD Tl & AR 8 AIHF | B W IR gt §
Seedling
A
P
Tillering
B
feafer
Grain filling
C
I fsferT
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Panicle Initiation

i gfmmeRe

Correct Ans : C

Q.No: 25
2415505 Growth regulator used in hybrid rice seed production programme is

4 & T oSl S Iere § wgad 91y Weex gl &

NAA

EE

[Sas]

Ccc

Cccc

ABA

ABA

Correct Ans : B

Q.No: 26
2415506 Optimum days old seedlings required for transplanting for early and medium duration rice seedlings is

SR SR T ol & o 31 AR F T STT SMa%gd WY e foli T gm 8

25 -30
A

25-30

30-40
B

30-40

40 - 50
C

40 - 50

10-20
D

10-20

Correct Ans : A
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Q.No: 27
2415507 Khaira Disease of rice is due to the deficiency of

o & T A Fuat it & PR S /2

N (FTgEle)

Zn (S)

Fe

Fe (dieT)

B (3IR)

Correct Ans : B

Q.No: 28
2415515 Percentage area share of Triticum aestivum in wheat cultivation in India is

HRA # 1g @1 &t H [P gedian & e &1 & ufemia # e §

12
A

12

60
B

60

69
C

69

87
D

87

Correct Ans : D

Q.No: 29
2415523 Average maize yield in India is

HR & Hop @1 e Iul §
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1t/ha

A
1 TT/FTRW
2.5t/ha

B
2.5 TT/TRW
1.8 t/ha

c
1.8 TI/TRW
4 t/ha

D
4 T/TRW

Correct Ans : C

Q.No: 30
2415531 Best suited temperature for bajra cultivation is

TR BT Tt F T T4 Sugad aoa §

Correct Ans : B

Q.No: 31
2417172 The combination of crop production and milk production activities is an example of:

TR IS SR g STEA Tt &1 HdieH UF IaTev §:

Competitive

wfereat
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Complementary

B

ST

Supplementary
C

SIRD

Competitive and Supplementary
D

yfaert ok SRS

Correct Ans : B

Q.No: 32
2417173 Maximum profit is obtained at the point, where:

e a1 39 fig W I giaT 7, W8t

MP = AP
A

MP = AP

MP < AP
B

MP < AP

MP > AP
C

MP > AP

MP increasing and AP decreasing
D

Haia IAR(MP) FY 9e@R SR ST IS (AP) B UeTHY

Correct Ans : D

Q.No: 33
2417177 Which of the following is a management decision ?

fofifaa § ¥ o e yeeE foig g2

Level of resource use

TAIYT SUGIT BT &R

Selection of least cost

FY ¥ $H AR BT 70T
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Enterprise mix

I fagor

Total Farming

Ta qdt

Correct Ans : C

Q.No: 34
2417179 Short term loans to farmers are mainly given for the purchase of:

U 3 STt o1 gor WU § Fufifla o wde & R fear o 2:

Pump set
A
g Je
Seed
B
Cic]
Heavy machinery
C
U TR
Bullock
D
qyf

Correct Ans : B

Q.No: 35
2417202 An application of the accounting principles to the business of farming is:

Tel P HawE # wgie Rigidl 1 Sy §:

Farm Planning

A

BTH Wt

Farm Accounting
B

T BTefeT

Farm Budgeting
C

B gwife
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Marketing

ATHfET

Correct Ans : A

Q.No: 36
2417218 Which one of the followings sets of soil conditions is more suitable for plant growth?

FaRifed & 3 ) &1 o 1 ggg el 9 9 & R e Sugea &2

Sandy soil with high aeration and low water holding

A
I TG SR HH o TR B arel Yo gt
Clay soils with higher water holding capacity and low aeration
B
T W YROT & SR F I aret frdh
organic soils with high water holding capacity
C
T O YR &al 9Tl Siidw frd
Loamy soils with medium aeration and medium water holding capacity
D

qeOw qra 3R HeAH STe YRl &1 arell aife fgh

Correct Ans : D

Q.No: 37
2417219 ‘Crop logging’ is a method of:

i TR fewe! T &

Assessing crop damage

A
BOd B &fd BT Had
Soil fertility evaluation
B
&1 Il FT YD
Plant analysis for assessing requirement of nutrient for crop production
C
A IS & RIT Ui deal T AaRadar BT ATHe B & g deif o1 fadwor
Testing suitability of fertilizers
D

Idve! Pt UG BT THeor

Correct Ans : C
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Q.No: 38
2417220 “Hidden hunger” means:

i ER" &1 of 7:

Deficiency symptoms are seen when the nutrient is deficient

A
Wy a9 B v IR W 39 B e fard 33 {1
Sever yield reduction may occur without appearance of deficiency symptoms
B
T & Teoil Bt SURAR F 31 Sue & H1o Ft € It 1
The nutrient is not deficient but apparently seems to be deficient.
C
Ty de Bt Bt T 8 AfpT we dR W wit welle @ R
Visual deficiency symptoms are suppressed by other elements
D

T HU F AN PY 37 qedl GRT ST 34T S 21

Correct Ans : B

Q.No: 39
2417222 Addition of the following material makes it possible to take good crop in sodic soil:

frofarea gl o fam 3 Ifse g & off oSt waa ST Yy g @

FYM
A

FYM

Green manure
B

SiRGIH

Gypsum
C

foreaq

Sulphur
D

qEBI

Correct Ans : C

Q.No: 40
2417224 All India Soil Survey and Land Use Organization was established in:

e U e Tderr SR Y SUGNT oA &1 R e @I T e
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1952

A

1952

1956
B

1956

1962
C

1962

1960
D

1960

Correct Ans : B

Q.No: 41
2417225 A combination of many taxonomic unit like soil series phase or type is called:

HET SR =R AT YBR S I ST DG & TAOH B ....... FgT Sl Bl

Soil variant
A

Hal UpR

Soil series
B

eT gEar

Soil complex
C

e ueR

Soil association
D

T g

Correct Ans : D

Q.No: 42

2417229 A soil absorbs about of incoming solar radiation.
fordt T 3 91 R AR B s wet §1
5%

A
5%
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10%

B
10%
15%
C
15%
20%
D
20%

Correct Ans : B

Q.No: 43
2417230 Black and dark coloured soil absorb heat from sunlight then light-coloured soil.
Bl 3R TER 1 B R Gl Bt A7 A gedb! W A AL B aden T ARt Bt B
Less
A
H
More
B
Sifirs
Negligible
C
g
Very high
D
g Siw

Correct Ans : B

Q.No: 44
2417233 Carbon requirement of plant is met by absorbing:

QY P} B AELEDAT ... P @ FxF g B B

Carbon from soil minerals

firdt & Wit @ S

Carbon from soil organic matter

it & S vrdl A wEA
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Carbon monoxide from atmosphere

IGHST F FTHT AHIAFIES

Carbon dioxide from atmosphere

qgHST A T SRS

Correct Ans : D

Q.No: 45

2417234 Cation exchange capacity is found minimum in the case of:

o R & wfeas Rfg emar gram wg wdt 82

Montmorillonite

A
Hieriammge
Illite
B
ESIEC)
Kaolinite
C
Pr3ifemTge
Humus
D
ROl

Correct Ans : C

Q.No: 46
2417375 Which fruit contain maximum calories?

g wa ¥ sifiwad Hard gidl 82
Date palm
A
R
Karonda
B
Fier
Custard apple
C

TRIG1/Aarea
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Aonla
Sffaer

Correct Ans : A

Q.No: 47
2417376 Bottom heat technique of mango cutting for rooting is done at

3 B HAH FI 9IS J Pled B dicH gle db-le [Ha dITAF R H ol 872

50°C
A

50°C

32°C
B

32°C

40°C
C

40°C

100°C
D

100°C

Correct Ans : B

Q.No: 48
2417377 Cell division continues till maturity in fruit development of

59 o & e & Ba S Yo do BIRDT [AHSH SRl I6dl 87

Peach
A
E
Strawberry
B
Avocado
(o]
LCIGaE
Apple
D
GE]

Correct Ans : C
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Q.No: 49

2417378 First successful transgenic fruit plants are produced in

TS U5 59 Ba & qwd Treiae wel BT Sare b e

Pear

TR

cherry

o

Walnut

3R

Apple

¥

Correct Ans : A

Q.No: 50

2417379 Yeast is used for making

THR BT SUAW 591 §9M # fopar Srar 287

Nectar

AR

Cordial

FISTa

Cider

Syrup

Rru

Correct Ans : C

Q.No: 51

2417382 Sigatoka is associated with

RTcieT fhad G 82
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Mango

A

3H

Banana
B

Far

Apple
C

Iq

Pineapple
D

ST

Correct Ans : B

Q.No: 52
2417383 Which hormone is most effective in hulling of walnut

SRaRIc @t BRI F BN W1 g wed sifde yurd g ¥2

GA3
A
ies
Kinetin
B
e
IAA
C
Y
Ethephon
D
TAHH

Correct Ans : D

Q.No: 53
2417387 Marmalade is prepared from

e 59 wa € QUR fhan S &2

Custard apple

TRIET
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Apple

B
J9
Orange
C
arah
Litchi
D
i

Correct Ans : C

Q.No: 54
2417393 Evaporative cooling system works on main principle of

grefigor faa v fea T Risid | S R 82

CA storage
A
Hig dsror
MCA storage
B
TERY YERT
Zero energy cool chamber
C
[ S AMad Fal
Cold storage
D

=fia wesrRur

Correct Ans : C

Q.No: 55
2417394 Sliver thio-sulphate is the best preservative of

RieaRT-gethe fhae! Tod ImsT URRe® €2
Cut flower
A
e gL
Spices
B
T
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Cassava

Sweet potato

YHDG

Correct Ans : A

Q.No: 56
2417484 The Term ‘Extension Education’ was first coined in:

TR TH A’ (fRiRa i) Srearaell §aud Hei SudnT & s i

USA
A

R 1Y

UK
B

Japan
C

S

India
D

HRd

Correct Ans : B

Q.No: 57
2417485 The person considered as father of extension in India:

YRA H fIR &1 5% {68 AT Sl 82

A.A.Reddy
A
TS
O.P.Dahama
B
St
J.B. Chitambar
C

.. fanr
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K.N.Singh

#.u4. Rig

Correct Ans : D

Q.No: 58
2417486 An Extension agent is considered to be a:

AT SR U faRaR Toie &l g1 91igT:

Personal cosmopolite

A
AR TR
Impersonal cosmopolite
B
SafRTs TR
Personal localite
C
iR R
Impersonal localite
D

Jqufdie =T

Correct Ans : A

Q.No: 59
2417487 A blue print for action is:

e wE-fFm % < fife 3 Fga €

Project

ufegieET

Programme

FRIHH

Objective

I

Plan

LIEE

Correct Ans : D

Page- 27



Q.No: 60
2417489 The extension approaches wherein success is measured in terms of the rate of take up of the recommendations, and increases in national

production:

faerR et forads sierfa e o1 RIeiRall B simem 3t & oIk Wiy Ianes & gfe & e & waes qeaifed favar s 2

Project approach

A
i e
Commodity specialized approach
B
FHIfsE il effwion
Cost sharing approach
C
ARTT ATSTHRT TR0
General agricultural extension approach
D

[ Sy e et

Correct Ans : D

Q.No: 61
2417491 The optimum number of flash cards is:

R B1S P 3T GO T 8

10-12

10-12

12-14

12-14

14-16

14-16

16-18

16-18

Correct Ans : A

Q.No: 62
2417492 Sarvodaya scheme was started by :

Tdfed @ [ GRI SIRW B T5:
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F.L.Brayne

A

U6, T80

Spencer Hatch
B

W g

VinobaBhave
C

faier wra

T. Prakasam
D

&, ue=m

Correct Ans : C

Q.No: 63
2417493 Who is the secretary of Gram Panchayat?

T YR BT G B g 82
Sarpanch
A
WU
ADO
B
TSt
BDO
C
didtai
Gram Sevak
D

I AaDH

Correct Ans : D

Q.No: 64
2417495 The Ganga KalyanYojana is for:

T e ST by B & g R:

Consumption purpose of farmers

foramt @1 @ua Sxg
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Irrigation for small and marginal farmers

B

Y 3R Huia At & g R

Credit support scheme for rural people
C

ot @i & forg e Tk

Credit support scheme for small farmers.
D

BT fFaml & e »ige gudq

Correct Ans : B

Q.No: 65
2417498 DRDA is located at :

ot Fel R &:
State level
A
ST TR ®
District level
B
PR w
Block level
C
TES TR W
Village level
D

TH &R W

Correct Ans : B

Q.No: 66
2417766 Green Revolution in India was founded by whom in India to increase agricultural productivity in the developing world

YRd # gRT Fifa 3T we f5ud gR1 4R § fIwma=ia e # S Saedsar 9gM & fag &1 78 R

M.S. Swaminathan

TH. T AT

Charles Darwin

e sifdA
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Norman Borlaug

o
AT R
R.D. Iyer
D
RIS} IR

Correct Ans : A

Q.No: 67
2417767 Which one is not regarding plant breeding?

PN U UIeY Yo & Ty 7 T8 87

Increase the quality and yield of crops

A
THa! B urasT o Suw § i3
Manipulation of plant species
B
qiet Ft yremfeat # WY
Disease-resistant plants are produced
C
e wieRieh dteif &1 SeareH fpar wiar 8
Used in manipulation of leaching method in mining plants
D

T e # < faftr & Ry | S frar wrar @

Correct Ans : D

Q.No: 68
2417768 Which one is involved in plant breeding practices?

ey U Ut § i it g2

The hybridization of pure lines

A
[ XS FT HHOT
Maintain soil texture
B
frdt &t arae T =
Check precipitation
C

auf 3t sifg H
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Study data analysis

e fawavor &7 srera

Correct Ans : A

Q.No: 69
2417772 Which step is the main root of any plant breeding programme

B AR B it Uy s B H $ 4 SiS gl §

Genetic variability

A
3T gftadshear
Evaluation and selection of parents
B
TTaT-faT BT geaie ok T
Cross hybridisation among the selected parents
C
Tufa qrar-far & § P19 eefienesE
Selection and testing of equipments
D

IUSIVIT BT AT 30T U0

Correct Ans : A

Q.No: 70
2417778 The quickest method of plant breeding which introduce sudden changes in the genome.

ey Yo 31 Ja9 A 3 S SiHM § erme uiad @ 31

variable selection

A
uRada=ia Ta=
cross breeding
B
P AT
hybridization
C
0T
mutation breeding
D

IR worF

Correct Ans : D
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Q.No: 71
2417779 Similar genotypes produced by plant breeding technique is called

ISy USHH d@Hid gRI A TAE SiHeRy Feard §

Clone
A

T

Offspring
B

R

Progeny
C

wafa

Genome
D

Cigit:)

Correct Ans : A

Q.No: 72
2417780 Atlas 66 is a biofortified hybrid wheat variety which has been used as a donor for improving cultivated wheat and is rich in

[T 66 U@ SAGIICERES TRSS 1 oI fow § forae! swmma ig @t Odt § guR & o grar & &u & fogr man § oIk 98 995 @

iron
A
gl
fats
B
qar
proteins
C
oA
vitamins
D
faefm

Correct Ans : C

Q.No: 73
2417781 In 1986 which first transgenic virus resistant plant was produced using virus resistance gene, which generates resistance against virus

attack.

1986 ¥ IRRY URRIY S &1 ITNT Heh Ul v ARy Ufaidt I3 &7 IreH 35T T o, S aRRY ¥ gHa & Qe gkl IO SR g
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Potato

A

ST

Cotton
B

$U™H

Tobacco
C

darg

Tomato
D

CHI&R

Correct Ans : C

Q.No: 74
2417782 Nutritional quality has been improved by the addition of vitamin A by genetic engineering in which plant

5 0 & orrgafie Sohfafer grr fefm A @1 <nfira s o qoraer & guR far @ 2

Cotton
A

DU

Maize
B

HIPT

Wheat
C

Rice
D

EIC)

Correct Ans : D

Q.No: 75
2417784 In which technology the life of a tomato is enhanced.

g apHie & cHeR B 34 § 9fS @) ol 21

Antisense technology

i g
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Gene jumping

B

St st

Chromosome jumping
C

TR &

Microbial technology
D

Trgwieaa wenfa

Correct Ans : A

Q.No: 76
2418011 Discolouration of areas on leaves, stems and roots are the common symptoms in fungal diseases but also occurs in bacterial and viral

diseases is called-

®re S A A IR, T 3R SIST & T U BT A1 Wil IS GHR T80T ¥, AT 98 Siary] o ararerii & of g 8, 391 Seam 37

Necrosis
A
iTes
Crown gall
B
WIS T
Rots
C
Aew
Gummosis
D
TRRT

Correct Ans : A

Q.No: 77
2418012 The yellowing of green tissues or structures (especially leaves) due to either non-formation or destruction of chlorophyll.

FIRIGT & 7§77 A1 AP G & R &R S| a1 Ga=nsh (faRwaw ufvdl) o1 den ug=m

fire blight
A

IR &g

Chlorosis
B

TR
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rots

C
e
damping off
D
RIERGE|

Correct Ans : B

Q.No: 78
2418013 Which of the following is a common symptom of plant disease?

fafeied & ¥ S T TeU-3T $T TP A T 82

Different Height Of Plants

A
aielf @t fafir S
Different Flower Colour
B
ST ST G & [T
Perfect Flowering
C
gof qor &7 791
leaf curl
D
Tuf e

Correct Ans : D

Q.No: 79
2418017 Chemosterilants are the chemical compound used to control economically destructive or disease-causing pests by causing

PR IEtE 9 § Srer Suan onfife w0 3 A=ReR a1 I 9e] S 91d Siel @ Fufd s & o e s g

sterility of one or both of the sexes

A

T a1 g i Y atge

excessive growth regulators synthesization
B

St faer Frame dxager

inhibit feeding of the insect
C

Pie & HIoH T D1
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declining in growth

faorT # firmae

Correct Ans : A

Q.No: 80
2418018 Plant Quarantine regulatory measures are operative through the "Destructive insects & pests Act, was introduced in India in

ey GTRIY Fame Sur "RAeR) $18 3R Pl sififam”, & mem 3 uifad € g8 WRd g ad & Oy i mar-

1917
A

1917

1915
B

1915

1926
C

1926

1914
D

1914

Correct Ans : D

Q.No: 81
2418019 Which Contact poisons penetrate the skin of the pest and are used against those arthropods,that pierce the surface of a plant and suck out
the juices.
DH Y JUH e BIC B @l § Y I & AR S Mmifiigy & e e e o §, S 9id 31 9ds & 9ad & 3R 39 994 ol
Malathion
A
EEIDEIE]
caldrin
B
DDT
C
I
Pheromone
D
B

Correct Ans : A
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Q.No: 82
2418020 The scientific study of diseases in plants caused by pathogens (infectious organisms) and environmental conditions (physiological factors)

is called

e F AoHD! (IS Siiah) SR qafaefiia aRfufad’ (Iike eRT) & SR SH are A0 F ITAD (eqT B HeT ST §

phytochemical
A

LgECCgE

phytopathology
B

BrEeIdiarst

phytotoxicity.
C

WIge eiaarRIdt

phytoplankter
D

WBIgCI@ihex

Correct Ans : B

Q.No: 83
2418021 Who is the Father of Mycology and Plant Pathology in India and became the Imperial Mycologist in India

HRA & AR 3R wie ol & 6 $1F € 3R YRd § SHiRaa aReaire 332

EJ Butler
A

ERECGH

KB Khurana
B

Pl R

R.C Dubey
C

SR g&

R Prasad
D

SR W4Ig

Correct Ans : A
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Q.No: 84
2418024 Rotenone is an odorless, colorless, crystalline isoflavone used as a

A T e, TTE, freda e § o TN o o &

Insect hormone

A
Fie g
Natural insecticide
B
WIpfa® Pler=rs
Bioherbicide
C
EICIHEEIES
Herbicide
D
e

Correct Ans : B

Q.No: 85
2418026 Pyrethrin is made up of six toxic chemicals that together constitute an insecticidal property is extracted from

TR B8 STesid JWEA! J 91 21 § S U I aeR Uh Sleeis Suta o1 Ao 3 € a8 5 T o §

Rosa Carolina

A
ST BRI
Helianthus annuus
B
W
Lilium canadense
C
ferferam S
Chrysanthemum cinerariifolium
D

Taasd RrReiwima

Correct Ans : D

Q.No: 86
2418147 Which of the following plant hormone, plays a primary role in allowing K+ to pass rapidly out of guard cells, causing the stomata to close in

response to drought?

Fafid § T B9 9 Nl gEM K+ 31 TS Biinel 3 3o I arex Feas @t agaf 37 3 wufie yiirer Furd €, R 3@ ot Rufa § 3y 9 8 9 87
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Cytokinin

A
R ECCAECE]
Abscisic Acid
B
ufifie e
Ethylene
C
PG
Auxin
D
iR

Correct Ans : B

Q.No: 87
2418148 Which among the following plant hormone, increases as a plant response under flooding conditions?

16 @ Rufa § 0 & Ffafea & § o @ uey gE Sgar 82

Gibberellic acid

A
Rrakfers T
Auxin
B
SR
Abscisic acid
C
TR wRe
Ethylene
D
JBGIC

Correct Ans : D

Q.No: 88
2418149 Which, among the following membrane transporters, shows active transport mechanism?

Fafeiad free TR&T & 9 iF, Withy il F &) 3t 37

Carrier proteins

PRz WA
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Channel proteins

B
T T
Pumps
C
oy
Co-transporters
D

FI-gHuEY

Correct Ans : C

Q.No: 89
2418150 Casparian strips-

FORae Rew-

are present in endodermis to prevent water and ion movement.

A
ot 3R ema waTE @) Aea & Rg e § dieg B 8
are present in xylem tissue to prevent water and ion movement
B
Uit 3R 3ma vaTe @Y A b RiE wgew Sae § A ad €
are present in phloem tissue to facilitate solute movement.
€
TATH FHae ® A varg 1 gRyeEs g9 & fog dig &kt 7
are present in endodermis to facilitate solute movement.
D

i vare # gRuyEE TR ¥ Rig weieife § dag a9 §)

Correct Ans : A

Q.No: 90
2418151 The most accepted theory to explain ascent of sap in plants “transpiration-cohesion-tension mechanism”, was proposed by:

el & IR & IR IR & R T W Rigia "Iriicrsi-Haiiom-a-1d o g gRI WRandd far 7 o

J.C. Bose
A

o, <. 9

Godlewski
B

Tsaewt
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Dixon and Jolly

C
o ok Sl
Strasburger
D

Correct Ans : C

Q.No: 91
2418152 In a process of global nitrogen cycle which among the following is not the key step?

I TS T @Y e § Fofifed ¥ § $R-w weayl o A 82

Fixation of atmospheric N> to NH; and NH; and by bacteria

A
IRIASE N, T NH; AR NH: AR deiRargany feerfieor
Denitrification of nitrate by bacteria back to Na
B
SHATOTHT GaRT ATSEC BT HATSEIHTUT aTdT N, #,
Nitrification of these molecules to nitrate by bacteria
C
3 Srupsit &1 SHaTupsit gRT ATgee | AIgd®Rr
Nitrate oxidation by plants
D

Gl gRT AEee Sifefiemvor

Correct Ans : D

Q.No: 92
2418154 Darwins’ phototropism experiment and Went's coleoptile tip experiment are related to which of the following hormone:

ST 1 YepTRITgad W SR I ST Siesd fou v Fufiied # ¥ fra gmib & waia 8

Cytokinin
A
GIECIR T
Auxin
B
SR
Gibberellic acid
C

e e
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Ethylene

R CIE]

Correct Ans : B

Q.No: 93
2418156 “Triple response”, a key reaction of ethylene, is characterized by:

“feue feaaiar, < & wiiel &t ve wg ufafean §, ot ke §:

Plumule hook opening, positive gravitropism and internodal elongation.

A
WP §F URHA, THRIAS [SATHYU SR aRuda ™y afe |
Excessive cytokinesis, negative phototropism and parthenocarpy.
B
@l B AU, TERIS TR ok i dewad|
Inhibition of stem elongation, promotion of lateral swelling of stems, and reduced sensitivity of stems to gravitropic
stimulation.
C
T Seifenor 31 A, a4t B ursf Yo I gerar 31 SR ey & uid ae B Hadeiiadr § sl
Fruit ripening, plumule hook opening and negative phototropism.
D

Bl BT UHT, WG §0 TRHA 3R THRIAS THRIgde |

Correct Ans : C

Q.No: 94
2418157 Photomorphogenesis can be defined as:

UPHTRITHIG SR DY 39 UPR TRHIG fHar S T §:

Reproductive events in plants controlled by light

A
WRTRT ERT el & yere fomansit o1 o
Light dependent seed germination event
B
UHTI GRT Il SfHRT BT Frizor
Release of plant hormones under controlled light conditions
C
frafia yerr 35t fRufey ® urgu s @1 fawas
Physiological and developmental events in plants controlled by light
D

TSI gRT Wiel # Ui iR faererere gemnsi o1 fag=or

Correct Ans : D
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Q.No: 95
2418164 During the process of seed germination, which of the following hormones diffuse through the endosperm to a surrounding tissue called the

aleurone layer?

Pofofda & | @ 91 ey g, iV & SGRu B uiedr & SR, TSR & 1rer I TeRH WRa § faaia g g2

Auxin
A

St

Brassinosteroid
B

FIRFARRIES

Gibberellins
C

ey

Cytokinins
D

GIECICaR S

Correct Ans : C

Q.No: 96
2419110 An Enquiry into the Nature and Causes of Wealth of Nations” is the book of economist

"V TR T T TR TS Dol S I Sffth A (AP & o7 B UPpha SR SRUT 7w fobd S $1 7w 82

Adam Smith
A

Teu f{ry

Marshall
B

R

Robbins
C

e

J. S. Mill
D

. . fom

Correct Ans : A
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Q.No: 97

2419117 Who is known as the father of economics?

AR BT S fpd AT Wl 872

John Maynard Keynes.

I AE B

Milton Friedman.

e wigd

John Pedro Sanchez.

S g wie

Adam Smith

weH fRy

Correct Ans : D

Q.No: 98

2419118 Gross profit is -

Tbd d@ B-

Cost of goods sold + Opening stock

T T A1 B AN + IRAS ®ie

Excess of sales over cost of goods sold

I T T Ht AT W Iew) B siftrmar

Sales fewer Purchases

st vw @die

Net profit fewer expenses of the period 4

3afy 4 & g Y FU @A

Correct Ans : B

Q.No: 99

2419120 Net return per hectare is:

1. Overall efficiency measure
I1. Partial efficiency measure

I11. Specific efficiency measure
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I TRW Y& AH B...
1. AT Gl IU

11 3R g Su™

111. fafy Ser Ium

Only I

Fad I

Only IT

Fad IT

Only III

Fad 111

All 1, IT and III

Tl 1,11 SR 111

Correct Ans : A

Q.No: 100
2419121

When variable cost is zero, the total cost will be?
1. Equal to variable cost
II. Equal to fixed cost

III. Equal to average variable cost

S UReE R ARTd 4 B, o B AT e g
1. RGNS AT & SRIeR

11. RR AFd  RR

11, 3ed uRadid arTd & SRIeR

Only I

Pad I

Only II

Fad II

Only III

Had III

All I, IT and III

[ 1,11 &R 111
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Correct Ans : B

Q.No: 101
2419221 On which of the following river’s banks is the Barabati Fort situated?

TRIET e e 7 3 frw < & ac R R #2

Krishna
A

o

Godavari
B

Tara’t

Mahanadi
C

TR

Hooghly
D

Correct Ans : C

Q.No: 102
2419223 Which of the following forts has the Fateh Darwaza?

Fafefad # 3 oy e ¥ was aaren 82

Mehrangarh Fort

A
AR rg fovam
Vellore Fort
B
e farar
Kangra Fort
C
FiTeT fran
Golconda Fort
D

Tiaetst fra

Correct Ans : D
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Q.No: 103
2419300 Which of the following is NOT an example of Fixed Capital?

Fofifad & 3 S s Yol &1 IaTgR 78 82

Building

Machinery

=i

Tools

Labour

Ul

Correct Ans : D

Q.No: 104
2419301 The measure of unit for lands used in the local villages is also known as -

RIFT G F I @ SH arelt Yy F R 35 F w9 B o Fe1 o 82

Bigha
A
Eikl
Guintha
B
=
Centimetre
C
Héirtex
Both Bigha and Guintha
D

e 3R e Y

Correct Ans : D

Q.No: 105
2419309 Which of the following defines disguised unemployment?

Fafifed § 3 F1 w9 SR &1 IRUIRG $ar 82
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It occurs when the productivity is high and therefore workforce is laid down.

A
g 99 BidT § SId ISPl e gidt § ok gafog srfaa Fuffe forar smar &
It occurs when there are too many qualified people for the work.
B
g 99 BT & 919 B & R 957 o s a e §
It occurs when productivity is low and too many workers are filling too few jobs.
(o}
g 9 BT § W SUIGHdl B gl & 3R 9gd A HHAR! 9gd BH oAl W B e &
It occurs when the business goes bankrupt
D

g 99 i1 & oid gaard farfern €t s &

Correct Ans : C

Q.No: 106
2419381 Which of the following teams won the ICC Women's T20 World Cup 2020?

Fafafaa ¥ 3 g 9 7 s afeer &-20 fay $9 2020 Shar?

India
A

HRd

New Zealand
B

Australia
C

West Indies
D

EREsiT]

Correct Ans : C

Q.No: 107
2419505 The forces that work on the surface of the earth are known as which of the following?

gl P Helg W 1Y B A1 el b1 FEfied F § b U H e o 82

Endogenic forces

Siaeiia 9a
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Exogenic forces

B
qfgwiia 9a
Sudden forces
C
AHTHFHP T
Diastrophic forces
D

e faveuur ga

Correct Ans : B

Q.No: 108
2419542 Warren Hasting became the first Governor General of India in which of the following years?

IR BfeT Fafifea & & 59 9d % URd & 980 TaR SR §17

1753
A

1753

1763
B

1763

1773
Cc

1773

1793
D

1793

Correct Ans : C

Q.No: 109
2419544 The East India Company acquired a charter from which of the following ruler of England, granting it the sole right to trade with the East?

£ 3R Hu A s & Fafaiad # 3 5y e 3 1 9k wia e, fed 39 gd % 9 AR R4 &1 UHHE SHfieR e

Queen Elizabeth I

W TferaY 1

Queen Elizabeth II

B ey 11
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Richard II

C
fead 11
Henry IV
D
F IV

Correct Ans : A

Q.No: 110
2419624 Who had composed the Geeta Govinda or Gita Govinda?

i Tifde Bt T e @i

Tulsidas

gadieN

Kalidas

P

Surdas

e

Jayadeva

W&

Correct Ans : D

Q.No: 111
2419626 Who is the writer of the novel "The Guide"?

g MES" IUU F AED HH &2

Ruskin Bond
A

A ars

R. K. Narayan
B

IR, . TREY

K. R. Narayanan
C

F. IR, TREUA
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R. K. Laxman

3R, . T

Correct Ans : B

Q.No: 112
2419702 The Constituent Assembly, following the partition of India in 1947, consisted of how many members as on 31st December 1947?

1947 ¥ YRd & fUeH & 915 dfayd 9u1 & 31 R 1947 & fban 9w 47

299
A

299

229
B

229

199
C

199

169
D

169

Correct Ans : A

Q.No: 113
2419704 Fundamental Rights are enumerated in the Constitution of India under which of the following Parts?

YR % TRyF & Do Afreri @t T Fafiiea § § feg um ¥ siaia 3t T 82

Part I1I
A

HIT I1

Part I1I
B

HIT 11T

Part IV
C

HIT IV

PartV
D

UV

Correct Ans : B
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Q.No: 114
2419718 The Constitution of India provides for how many kinds of Writs?

URT FT WRAYF fra TpR F Ne ueH Far 82

2
A

2

4
B

4

5
C

5

7
D

7

Correct Ans : C

Q.No: 115
2419907 Who was the governor-general when the Pindari War was fought?

fiert g & T IR SR DA 3?2

Lord Dalhousie

A

a1 gagrel

Lord Hastings
B

s ™

Lord Bentinck
C

qis aftw

Lord Cornwallis
D

WIS Piarerd

Correct Ans : B

Q.No: 116
2419908 Which of the following mahajanapadas was situated in Madhya Prdesh?

Fafafad & § S o gerug A wew # fRyq a1
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Malla

A
Heell
Anga
B
3T
Surasena
C
Avanti
D
sadt

Correct Ans : D

Q.No: 117
2419978 Which of the following cities of Madhya Pradesh have been selected for UNESCO’s ‘Historic Urban Landscape’ project in July 20217

T Y™ & Fofaiea & 9 fa weR 3 gars 2021 # s 3t Mieiie el uRexa uikasm & R g mn 2

Bhopal and Jabalpur

A
U SR FEaqR
Gwalior and Orchha
B
e’ 3R st
Mandu and Orchha
C
g 3R SiRST
Indore and Mandu
D

R ol wig

Correct Ans : B

Q.No: 118
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the

appropriate option. If a sentence is free from error, select No error.

The Prime Minister is going to launched ‘Jan-Dhan Yojana’ scheme to benefit the villagers.

A The Prime Minister is going
B to launched ‘Jan-Dhan Yojana’
C scheme to benefit the villagers.
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D No error.

Correct Ans : B

Q.No: 119
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the

appropriate option. If a sentence is free from error, select ‘No error’.

The cotton crop in the eastern region was adverse affected by insufficient rainfall last year.

A region was adverse affected by
B The cotton crop in the eastern
C insufficient rainfall last year.

D No error

Correct Ans : A

Q.No: 120
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the

appropriate option. If a sentence is free from error, select *No error’.

The police said that this was one of the most vicious attacks they have ever seen.

A The police said that this was

B one of the most vicious attacks
(o] they have ever seen.

D No error.

Correct Ans : C

Q.No: 121
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No

improvement.

The document is (concerning) your health and that of your family.

A concerns with

B concerned with
C concerns

D No improvement

Correct Ans : B

Q.No: 122
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No

improvement.

I'll (clear out) this drawer and you can put your things in it.
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A clear

B clear up
C clear off
D No improvement

Correct Ans : B

Q.No: 123
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No

improvement.

The accused (denied the charges) framed against him.

A declined the charges
B denied charges

C refused the charges
D No improvement

Correct Ans : D

Q.No: 124
Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Who did this work?

A Who has done this work?

B This work was done by who?
(o) By whom was this work done?
D This work was done by whom?

Correct Ans : C

Q.No: 125
Out of the given options, choose the one which is the correct active voice of the sentence given below.

I am disappointed that an unrealistic policy has been adopted by committee.

A It has disappointed me that the committee has adopted an unrealistic policy.

B It is disappointing to me that the committee has adopted an unrealistic policy.

o} It disappoints me that the committee has adopted an unrealistic policy.

D It has been disappointing to me that the committee has adopted an unrealistic policy.

Correct Ans : C
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Q.No: 126
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which

best expresses the same sentence in Passive/Active Voice?

Can you see the sun in the sky?

A Can the Sun in the sky be seen by you?
B Can the Sun be seen by you?

C Can be the Sun seen by you?

D Can you seen the Sun in the sky?

Correct Ans : A

Q.No: 127
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which

best expresses the same sentence in Passive/Active Voice.

Our hosts were thanked by us for their kindness and hospitality.

A We thank our hosts for their kindness and hospitality.

B We thanked our hosts for their kindness and hospitality.

C We will thank our hosts for their kindness and hospitality.

D We are thanking our hosts for their kindness and hospitality.

Correct Ans : B

QNo: 128 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
The jury him guilty.

A found

B have find

C has find

D have finds

Correct Ans : A

e Out of the given options, choose the most appropriate word/set of words to fill in the blank.
Columbus America.

A discovered

B have discover

C have discovered
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D

has discover

Correct Ans : A

Q.No: 130

D

Out of the given options, choose the most appropriate word/set of words to fill in the blank.

Used car sales down because of the increased cost of new cars.

have gone

had go

have went

has go

Correct Ans : A

Q.No: 131

D

Select the most appropriate option to fill in the blanks.

He came to the surface of the water for air.

dwelling

working

shaking

Gasping

Correct Ans : D

Q.No: 132

D

Select the most appropriate option to fill in the blanks.

Richard was to atone for his thoughtlessness.

anxious

general

campaign

dialogue

Correct Ans : A

Q.No: 133

Select the most appropriate option to fill in the blanks.

Regions specialised in heavy industries may to invest in the infrastructure required for the decarbonisation of such industries.

needing

needs
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C needed

D need

Correct Ans : D

Q.No: 134
2420199 The human eye is most sensitive to yellow-green light having wavelength -

THg 3 UId-gR TSI & e e Taeiia 2 €, et avesn ® -

1550 A
A
1550 A
8550 A
B
8550 A
5550 A
(o)
5550 A
9550 A
D
9550 A

Correct Ans : C

Q.No: 135
2420204 Which of the following is not an insulator?

fafifad & 3§ $H & Fuas g 8?7

Mercury

Bakelite

IhaEe

Rubber
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Glass

RGIG)

Correct Ans : A

Q.No: 136
2420360 Which of the following is the ratio of Oxygen to Nitrogen in the air?

e & § B gar & sifeiicn oiR ArEcoH 31 U 87

t9
w

9
V3]

w
to

w
to

Correct Ans : A

Q.No: 137
2420362 For the process of photosynthesis, which of the following gases is required during the day?

o & g v Teeur 1 ufthar % fore Fafifaa § § fow 9 3t sraxgwdr gk 22

Nitrogen
A
EIECEE
Carbon dioxide
B
T STEATRITS
Oxygen
C
SfefterT
Argon
D
ST
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Correct Ans : B

Q.No: 138
2420367 Anesthesia which is administered during the surgeries in the hospitals is a mixture of which of the following gases?

SR # Tt & SR < S arel iR fafeiea § @ fra I @1 fsor 2

Oxygen and Nitrous Oxide

A
Sifedter SR AgeH sifeTss
Oxygen and Nitrate Oxide
B
Sifeiier R gee i Es
Oxygen and Ammonia
C
TRt o srmiferar
Oxygen and Phosphorus
D

Sfedier SR BRBRT

Correct Ans : A

Q.No: 139
2420377 The amount of water vapors differs from place to place. Its amount is minimum in which of the following places?

QTS BT HIAT SeRT-3(ET SHTGT UR SH-SIeRT el 31 391 AT 5 # I f5g RIF | g 87

Pacific Ocean

A
TIMT AR
Antarctica
B
MLcarcal
Indian Ocean
C
fie Ae TR
Arabian Sea
D

SR AR

Correct Ans : B
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Q.No: 140
2420500 Which of the following is NOT a sexually transmitted disease?

Fofifad & 3 $H-u1 99 aia I T8 82
HIV/AIDS
A
TaTEdt / Tgw
Pubic lice
B
T
Trichomoniasis
C
TRSHIERE
Blood Cancer
D

I S

Correct Ans : D

Q.No: 141
2420501 What is the gap of time between the entry of germs into our body and appearance of symptoms of the disease called?

TR TRR H Piereli F 73w 3R I & A&l & UHe g1 & dh $ SR BT R HEd 82

Incubation period

A
ST Sy
Pathogenic period
B
ITeE fafts
Contagion period
C
AHHS afes
Inactive period
D

faferg safy

Correct Ans : A

Q.No: 142
2420513 Which of the following is NOT a symptom of Amoebiasis?

a3 9 B srfiarimg o1 e 8 82
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Abdominal pain

A
e
Cramps
B
o
Constipation
C
Dol
Temptation to binge eat
D

& 1A WA FT Y=

Correct Ans : D

Q.No: 143
2420641 The word “acid” comes from a word.
S e, U g I &1 3
Latin
A
e
Greek
B
picd
Roman
C
RiE ]
French
D
g

Correct Ans : A

Q.No: 144
2420642 Which of the following is NOT a natural indicator?

FEfiEd § 3 o9 @ eiie S6ad T g7

Turmeric

gt
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Litmus

B
Rreww
China rose petals
C
R e ot vt
Methyl orange
D

forurga oS

Correct Ans : D

Q.No: 145
2420645 Which of the following is the least acidic fruit?

g d ¥ F 91 IS FH RIg Bl 5?2

Lemon juice

A
g &1 ™
Amla
B
S{HAT
Lime
C
Watermelon
D
g

Correct Ans : D

Q.No: 146
2420649 Which of the following is used to treat the soil when it is too acidic?

7 & I frae Sud siafiie sl 89 R il & SwaRr & R far wa 82

Quick lime
A
@R T
Organic matter
B

PrfE gerd
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Salt

Organic matter and salt both

P werd o T0w Il

Correct Ans : A

Q.No: 147
2420886 The organism living in the habitat, both plants and animals are which of the following component of the habitat?

A 7 T 1A Sitd, WY 3R TR ST 3 & Faffad § § &9 3 ges 82

Biotic Component

A
Wfw Tew
Abiotic Component
B
AT TeB
Aquatic Habitat
C
el ATy
Terrestrial Habitat
D

AT AT

Correct Ans : A

Q.No: 148
2420887 Changes in our surrounding which makes us respond to them are called?

TAR ATE-U # B9 aTd URadH ot 84 99 WR Ufafehar &1 & e IRa #=a 8, Fafif@d # 3 1 s 82

Reflex
A
g foman
Stimuli
B
EEALE]
Reproduce
C
EEEE]
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Evolution

CIECACEar

Correct Ans : B

Q.No: 149
2420890 The rounded end of one bone joins with the hollow space of the other bone, allowing movement in all directions, in which of the following

types of joints?

Fafifad & 3 59 UHR & oig & UF 73! &1 M RR1 g0l 891 & Treht H & g8 ©, fored weft st # wfa uem &kt 82

Fixed Joint
A
S iy
Pivotal Joint
B
RTT Ny
Ball and Socket Joint
(o)
DgPp-Tieadt |y
Hinge Joint
D
féwr =y

Correct Ans : C

Q.No: 150
2420898 The broad green part of the leaf is known as which of the following?

TR F DS T UM B FEfaad § F few T F S S 82

Midrib
A
THRRT
Leaf Veneration
B
R fa=ma
Lamina
C
Lasca
Reticulates
D
wifersT =t

Correct Ans : C
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Q.No: 151 At a certain film festival, eight films will be shown J, K, L, M, N, P, Q, and R. The order of the showings must meet the following conditions:
2421090 N is shown before L, ] is shown third, Q is shown fifth. If N is shown immediately after P, then P could be shown?
T A et IuRE #, oe & J, K, L, M, N, P, Q, 3R R faars st uexi+i &1 v Fufaiad <dl & g & aife: N &1 L 3 vga feaman srar
B, 1 3! AW feTmn 1 8, Q S uiwal famn o §1 4 p & die a1g N i o §, < Pl e S W &

Third
N Cikn
B Fourth
G|
Fifth
= i
Sixth
D dol

Correct Ans : D

Q.No: 152 A, B, C, E, D, F are sitting in a row facing towards West. E is not at the right end. B is just right of C but left of F. only D is between A and
2421092 C. Who is at the right end ? .
A, B, C, E, F U dfe & uf3m fa=n 3 ok 9@ 3% 98 gU T E S SR WAL 81 B, C & 3P 63 iR § iR F & 5% iR 81 Faa D, AR CF o™
H 3371 81 AME BR W BH 87

A c
B F
c b
D B

Correct Ans : B

Q.No: 153
2421118 In the given figure, which number represents how many such pens are either new or blue, but not both?

<+—— Pen
New— | 31 54 | 42
38 | 48
21 56
19 25 y
91 53
Blue

g ol H, B W Fom # W e 97 § S ¢ A1 A €, A AT A & by 2wl 82

5 42 o
AT — | 31 4
38 | 48
21 56
19 25 72/
91 53
wrem
210
A
210
200
B
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200

220
Cc

220

215
D

215

Correct Ans : C

Q.No: 154
2421143 Some statements are given below followed by some conclusions. Taking the given statements to be true even if they seem to be at

variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:

1. All guavas are fruits.

I1. No carrot is a fruit.
Conclusions:

1. Some carrots are guavas.
II. All guavas are carrots.

II1. No guava is a carrot.

$9 Hu 9 Ru T § ok go Fised 3y 7u &1 e 7 sy &) g Ara gu o, ol 3 wmaa: a9t @ e wdla €1 €, o aft Frse @ o eik
o fofa & 5 Ry g fraeslf & & B9 91 U 1Y Ful &1 qlfhds T F SFER0 F=Al B

BY:

1. T omee B g

11 1% *f ToR Ba e 3]
o

1. B TR AEe

11. Gt 3FEg TR 8]

111, B¥S 4t 3Re TSR el B

Only conclusion (I) follows

A

Faa s (T) SrgERor o33 8]

Only conclusion (1II) follows
B

Fad Prepd (11) SR F3a B

Only conclusion (III) follows
(o]

Faa s (111) SrgeRu e B
b No conclusion follows
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o1 e srge T8 S 3

Correct Ans : C

Q.No: 155

2421151 In the question below are given some statements followed by some conclusions. You have to take given statements to be true even if they
seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions logically

follows from the given statements disregarding commonly known facts.

Statements:

All Hours are Seconds

All Seconds are Minutes
Only few Seconds are Days
Conclusions:

I. Some Minutes are Days

1I. Some Hours are Days

I U7 § $© $YA IR IS 918 PO Moy G T §1 P! AT T T BT 9 AT 7, YA B J I1a al § ST Uohd g ol weft ey &t afen

IR = Frofa A & o a1 B9 a1 fresd 3 @t B ToRee B R BYHT BT Alihd ¥ J e HRal g

B
Tl 6 Jbs }

Tt IS e ©
Paa PO b A ®
Pred:
LgB e Ay
.o A d

Only conclusion I follows

Faa e 1 guRor Hear 2

Only conclusion II follows

Faa fFrHy 11 SgERT ST g

Neither conclusion I nor II follows

A i 19 @ 11 SR T §

Both conclusions I and II follow

frepd 1 3R 1T SO FRar ?

Correct Ans : A

Q.No: 156

2421295 Choose the one which is different from other three alternatives

fu e fawedt & ¥ 39 fawey &I gu, S org < fawedl & i 71
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Larceny

A

Ry

Robbery
B

qc

Snobbery
C

YT

Burglary
D

Ty

Correct Ans : C

Q.No: 157
2421297 Find the odd word/Letter from the given alternatives.

fow e fawent A 4 faud wrsg/ sieR T BIR|

ABB

ABB

BCCC

BCCC

CCCDDDD

CCCDDDD

DDDDEEEEE

DDDDEEEEE

Correct Ans : B

Q.No: 158
2421302 Choose the odd one from the given alternatives.

feu U fasedi § i 1 g

BCFG

BCFG
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NORS

B
NORS
WXAB
C
WXAB
EGFC
D
EGFC

Correct Ans : D

Q.No: 159
2421309 If x is coded as +, - is coded as +, + is coded as X and + is coded as then

88-11+2x24=7

T x B+ PEU A FSAPT TR, - B + & U PiSa A TR, + B x $ w0 A Fifed o T g &R + 31 - Pisa g, @

88-11+2x24=7

32
A

32

40
B

40

35
C

35

30
D

30

Correct Ans : B

Q.No: 160
2421316 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be

used more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no
such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the second
letter of the word will be the answer.

Gion

F2 RU T vy A P9 3R & ISHRI § Uh g B Bled g Y U | ufewdied wi § 3T e 1eRi o1 ue F 3ifie SR SudnT fbar S Hehal & Sie
ASRd UM & 916% & UdS 3HeR BT SN Had U aR S0l e aM & R fman S 81 9l T 318 e T6¥ F911 S Whell § ol FR X' &, ok
g U SR U1 Xeg SR S Tehell ©, ol SR 'M' €, 3T Xeg; BT GORT 31&R IR ST
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D
A

D

E
B

E

M
C

M

X
D

X

Correct Ans : B

Q.No: 161
2421317 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be

used more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no
such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the second
letter of the word will be the answer.

F2 RU T vy F PO 2R & SSERI # U g8 P BIed gU 3T U ¥ v Wi # 3 e sieki 1w ¥ i aR Sudi fehan S e @ Siafe
Tfasied UM & IR S TAP &R BT SUAN Had TP IR 40l Weg 9 & [T a1 S 1 afe T $is ek 761 §-11 off 9l § af SR X' §, 3R
e U TR T R1eg SN S THAT 7, O IR 'M' &, 3T Xeg BT ORI 3H&R IR S|

OD

C
A

C

X
B

X

(o}
Cc

(o]
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M

Correct Ans : C

Q.No: 162
2421355 Complete the following series:

AP, DQ, HR, MS, ST, ZU, ?

Fafafad e & gu &

AP, DQ, HR, MS, ST, ZU, ?

GV
A

GV

HV
B

HV

ED
C

ED

FS
D

FS

Correct Ans : B

Q.No: 163
2421359 From the given responses, find the missing letter in the series.

AEI, EIO, IOU, ?

fau U famedl & I 90t & I 31ER B J1d bR

AEI, EIO, IOU, ?

AIL
A

AIL

OUA
B

OUA

IOA
C

IOA
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AIE

AIE

Correct Ans : B

Q.No: 164
2421364 From the given responses, find the missing letter in the series.

MaN, SaH, YaB, ?

fou e feedi & § oh A qw 91aR B I B

MaN, SaH, YaB, ?

EaVv
A

EaVv

RaC
B

RaC

FaV
C

FaVv

TaD
D

TaD

Correct Ans : A

Q.No: 165

2421397 In the following question, select the related word from the given alternatives.
1,11,
14 196 16

AR U7 7 U 7 fasedl  § gafRd W 31 9 e

.1 ..1.,
147196 16"
225

A
225
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Correct Ans : C

Q.No: 166
2421398 Select the set of numbers that is similar to the following set of numbers.

(30, 72, 132)

I Temall F T B T97 IR Sl B Temst & 9g ¥ hE B

(30, 72, 132)

(20, 56, 110)

A
(20, 56, 110)
(15, 30, 80)

B
(15, 30, 80)
(4, 18, 56)

C
(4, 18, 56)
(6, 22, 102)

D

(6, 22, 102)

Correct Ans : A

Q.No: 167
2421447 Find the wrong number in the series.

28, 33, 31, 36, 34, 29

P H H Taa e Bifey

28, 33, 31, 36, 34, 29
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33

A

33

36
B

36

34
C

34

29
D

29

Correct Ans : D

Q.No: 168
2421506 What should come in place of the question mark (?) in the following question?

2-[6—- {3+ (=4 +5+1)x 8} +12] =2

FafaRad uy & uyars fag (7) F WA W &1 S 91ige?

2—[6= {3+ +5+1) x 8} +12] =?

1
A

1

2
B

2

3
(o]

3

4
D

4

Correct Ans : C
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Q.No: 169
2421515 What should come in place of the question mark (?) in the following question?

[{(486)2 = (27)?} x 15] +12="2

FufaRad uy & usars fag (?) & R R &1 M 91ge?
[{(486)t=(27)*} x 15]+12="

365
A

365

375
B

375

385
C

385

405
D

405

Correct Ans : D

Q.No: 170
2421548 Find the smallest fraction of the following fractions?

fafed firel § 4 9o 1) i 31d Sifoe

20
81

20
81

©wIlw

©lw

PN
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L

Correct Ans : C

Q.No: 171
2421553 Find the largest fraction of the following fractions?

Frafered el & 3 gad oSt e 91 Bifore?

63
181

24

89

Correct Ans : B

Q.No: 172
2421587 H.C.F & L.C.M of two numbers is 37 and 444 respectively, If one number is 111. Find the other number?

B el F1 Hgay FHMGS SR AT SHIGS B 37 AR 444 §1 AR UGB 111 T O GO I I Pifore?

111
A

111

74
B

74

148
c

148
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333

333

Correct Ans : C

Q.No: 173 Find the units digit of 829x677 + 342 x 873 x 256,
2421630 29 x 677 + 342 x 873 x 256 HIHIS B 3/ T BI-

A

C

D

W NN OO hh

Correct Ans : A

Q.No: 174 7 is added to a certain number, the sum is multiplied by 5, the product is divided by 9 and 3 is subtracted from the quotient. Thus if the

2421642 remainder left is 12, what was the original number?

7 &1 U R Tem & SieT ST 8, AN 5§ T Tt S 7, Sare &1 9 SiR 3 ¥ fauiior foran Sirar § o fob uma  ger 9T 81 39 YR Al 99 12 ],

1 g g @ e

30
30

20
20

40
40

60
60

A
B
C

D

Correct Ans : B

Q.No: 175
2421677 A company made a cubodical box of Size 32 x 24 x 10 but later on it was found at the

2
capacity of the box is 14-7—% less than the requirement while height is correct. Find the

percent increase in area of base to meet the requirement if he had to increase the
length & breadth in equal amount?

U HOeT & Uh OATY 3R &l Geal fordth HTITH HaRn: 32x24x10%’aﬁméﬁmgﬁ§
mmwgmﬁ?%ﬁﬁmﬂgmﬁlg%m?mﬁﬁwﬁluﬁaimé
mmaﬁﬁmmémﬁ,ﬁmm%mﬁmmmﬁqﬁg}m

2
16—%
3
A
2
16—%
3
15%
B
15%
2
14—%
7
C
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2 ’
14-%
7

Correct Ans : A

Q.No: 176
2421711 The ratio of the C.P. and S.P. of an article is 16 : 17. What is the Gain percent?

TF TG $ NI Hed 71 BT S0 16 : 17 §, ol U= A I B

5%
A
5%
5.5%
B
5.5%
6%
C
6%
6.25%
D
6.25%

Correct Ans : D

Q.No: 177
2421725 Animesh sold some articles at a Gain of 10%. He spent his total sale proceeds to purchase same articles. This time,

while selling them, he incurred a Loss of 10%. His Loss or Gain in the transaction was

HAT A 10% W8 T G aEGT @ ad1| 36 JI [0 & Foor T @ ot 3 IR & FAT TUGAT 5| fthel 386 IR 3T T3
F AT R 3 10% &1 g8, o g & gfaRrd @ @ gifer 7

1% Loss
A
1% gifet
1% Gain
B
1% &1
C No Profit No loss
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o et J gl

2% Loss

2% gt

Correct Ans : A

Q.No: 178
2421751 \what sum of money must be given at simple interest of six months at 5% per annum in order to earn Rs. 150

interest?

. 150 TS 9Ie e & ToIT ferciel I3 1 6 FEI & T 5% <t &F A HIUNT &1t W &l Gon?

Rs. 5000
A

%. 5000

Rs. 6000
B

¥. 6000

Rs. 10000
C

®. 10000

Rs. 15000
D

®. 15000

Correct Ans : B

Q.No: 179
2421841 A certain amount of money is divided between A and B in the ratio of 5:6. If B gets Rs. 360, then the amount is-

PRIV A MR BF AT 5 : 6 F arqura A fafka 1 ot ¥1 3l B B 360 F. AR, O e RIRF -

Rs.660
A

660 .

Rs.560
B

560 ¥.

Rs.680
C

680 .
o Rs.580
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580 ¥.

Correct Ans : A

Q.No: 180

2421844 Three numbers are in the ratio of 5 : 7 : 12. If the sum of the first and the third is greater than the second by 50, then the sum of the

three numbers is-

e 5 : 7 : 12 & U & § Al I7H F vgah aut dad Semalt o1 4, gt I ¥ 50 S#fE |, @ diF SRem &1 4 §-

125
A

125

120
B

120

95
C

95

85
D

85

Correct Ans : B

Q.No: 181
2421926 Find the ratio in which rice at Rs. 7.20 a kg be mixed with rice at Rs. 5.70 a kg to produce a mixture worth Rs. 6.30 a kg.

I SUId B I Do Ford 7.20 $Ud Ufd fBcium & ar9d &1 5.70 ¥0 Ufd fSadum €1 9ae & 91y e 6.30 $ud ufd feaum & a4

i3 B TR far o1 geoe 21

4:5

Correct Ans : B
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Q.No: 182
2421970 To cover a certain distance with a speed of 72 km/hr, Ayushi takes 18 hours. If she covers the same distance in 12

hours, what will be her speed?

3T ST 72 Tl /eier oY IFAR e @ 8, U AR gl A 7 IR A 18 Te T §AT ol §1 7 a5 agt gy 12 6 A a7 W
T ST T T gHer?

72 km/h

A
72 faAT. /e
48 km/h

B
48 frar./eer
108 km/h

c
108 f&raT./der
180 km/h

D
180 feraAT. /8T

Correct Ans : C

Q.No: 183
2422007 Satyam and Shivam can do a work in 10 & 15 days. Both together start the work. After 4 days Satyam left the work & rest work done by

Shivam. In how many days the total work completed.

TaH 3R R0 FH &1 10 7 15 AT TR I6ad &1 S S0 T T I ¢ 4 37 918 T0m $19 3 318 A1 ¢ R A9 o & Rag g1 & 71 fran
fot & g 1 wHI g

10 days

10 fe=

9 days

9 fem

6 days

6 &1

12 days

12

Correct Ans : B
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Q.No: 184
e 4 4 PR & SH-ar gu € 2

A e W

B ECRIn

c wgdlife W
D Sty FH

Correct Ans : C

.No: 185
QN0 A8 e 10 e 1o 9 e a1 il e el e v B2

A I
B 3@
c ERECE]
D I

Correct Ans : C

Q.No: 186

FETIEE & ofciea s 1 =0 HifL-
A T
B T
C 3
D T

Correct Ans : B

Q.No: 187

AT /UM% & M & RIF W qadl gRT R F4-18 ST W 5 9 g, 99

A I«H

B qaH

C =T

D I, AW T 3T

Correct Ans : B

Q.No: 188
Frefifd & @ sifee” &1 yaigard wee @ 82

JEYATaS A Hgd gl
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B ATHR
C ITHR
D e

Correct Ans : B

.No: 189
QN8 o 4 oz et e 3 el o i 1 T ARG

A e - g

B HRIER - IO
o ofafdt — oH IO
D U I - &

Correct Ans : D

Q.No: 190
e § & o ot @t weg 1 9T SifeTe-

A TEEUR
B HTTATFR
C e
D AUt

Correct Ans : D

R g 3
A Sraf

B et

C gl |t

D EE)

Correct Ans : D

Q.No: 192
FrefafEa & ¥ Wi weg &1 997 Sife-
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Correct Ans : C

Q.No: 193
TS HTeH Te Bl a1 H W UdF,

A TgT
B e
C Toaad
D T

Correct Ans : C

W0 198 ermmrwre_ armwad
A g
B GG
(o] IR
D EH

Correct Ans : C

Q.No: 195 i e @i 31
A FH BI

B Pl 3t

o S T& Tl gl B

D g B

Correct Ans : D

Q.No: 196
frafed & & W 919 S 94 BIf-

A Tdiea gaiT SR ET STl 38Tl

B g 5w o 98 ? 5 AT § wdf & w31

&1 YD Bl

Page- 86



C St ST T 3 € e

D T g WIY YR BT Tigdl g

Correct Ans : D

QNoz 197 Frefafda § 9 3 e o1 9 SiR-

A Tg urg § a1 5 gual

B 5 & v Frimial J wexiT

C SR T ST 3R ST Ue Wiy vedt g
D Riere 3 BT § P15 URT 7P 3 31

Correct Ans : B

.No: 198
Qo fefafea & § foa fave o Wi g9, gon, s oife Uidi &) sodd SR a1 WSSl & T gl 82

A feemfeates foe
B AR g

C argafar e

D HuaRE® foeg

Correct Ans : A

Q.No: 199 <
FrEfifeT & ¥ gereRT "iR-3R B gier o @ o 82

A $ F Hur e
B A SreEE gl
c SRS aTd SATI
D 7= Y ity frem

Correct Ans : C

Q.No: 200 i & 3 dieifed st 88 71 38 o gk &1 el FgR 1 7 onf 22

A Bt arreft wTuqw g 81
B STAT S 7 TEDY GO BT 19 &
c SFaT T TR g
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D foreft aRe @t RmYer 71 g

Correct Ans : B
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Q.No: 1
2412718 The length of Gunter's chain is -
TR 3 ) ward 8 ¥
66 feet
66 Wiz
76 feet
76 W
100 ft
100 T
125 ft
125 ¥e

Correct Ans : A

Q.No: 2
2412719 Plane surveying is done on area of less than-

1 & @ e TR FHeRTAS e fan o g -

50km?

A
s0 o fait
250km?

B
250 =f Rmft
500km?

c
500 T fft
1000km?

D
1000 = fmft

Correct Ans : B

Q.No: 3
2412720 Which of the following is not a chain?

P A F o F A &

Revenue

Metric

s
Arrow
Eid
Gunters
™=

Correct Ans : €

Q.No: 4

2412721 Revenue chain is divided into -
o ¥ v O & -
16 links

16 fEd

MPPEB 2021

View Candidate Question

11-Dec-2021

KKR-Reports

Submit

Moderator loggedin.[ Logout ]
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32 links

B
32 W@
64 links
c
64 Ed
128 links
D
128 @A

Correct Ans : A

Q.No: S
2412722 Invar tape is made up of -

TR 20 A R

Steel and Nickel

A
wa v Fra @
Wood

B
Lokl
Polyester

c
efideer @1
Nylon

D
gEH 1

Correct Ans : A

Q.No: 6
2412723 Angle of land slope is measured by-

¥ A B 00T A G -

Pedometer

el g

Clinometers

VT gRY

Piezometer

T R

Compass

B R

Correct Ans : B

Q.No: 7
2412724 One horse power is equal to —

T S YR SR Gl § -
103 watt

10% afc &

108 watt

108 afc &

746 watt

746 dlc &

746 kilowatt

746 fbel dic &

Correct Ans : C

Q.No: 8
2412727 First Modern internal combustion engine was invented by-
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T MY SR g 35 ¥ Pt §

James small

A
U T
Elon musk
B
T TS A
Rudolf Diesel
c
wsiew o 3
Nicolaus otto
D

Froew o 3

Correct Ans : D

Q.No: 9
2412728 The carburetor of an internal combustion engine is used to mix fuel with -

e 4 R Rewd Ty fiww 3 ofaRe Te o H FraRex &1 Iuai R wiar @ 2

Coolant
A
RiEsE
Air
B
&
Water vapour
c
T
oil
D
¥

Correct Ans : B

Q.No: 10
2412729 Central Institute of Post Harvest Engineering and Technology (CIPHET) is located at.

Py Herd SR TRy W MRS (Foasnh) TM IufRE R ?

Mysore
A
i
Karnal
B
Lasict
Ludhiana
c
i
Lucknow
D
TGS

Correct Ans : C

Q.No: 11
2415400 Gaseous Hormone in plants is called-
et 3 e il e @
Phytochrome
haeceac
Indole Butyric acid
W R s
Ethylene
el
Cytokinins

R

Correct Ans : €
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Q.No: 12
2415401 Name the biochemical pathway where the biosynthesis of folates and aromatic amino acids takes place.

I SRRTRS T F1 W RIFRY o6l Wi 3R WdRe sl sl @ Sawdw i 21

Shikimic acid pathway

A
Rifbfirs girs wud
bd y nas Y
B
TS AUEE-TAR T4y
Gluconeogenesis pathway
c
AR wrf
Glycolysis pathway
D

TgEraTE R Anf
Correct Ans : A
Q.No: 13
2415402 Sterols which is less prevalent in plants

Rcd ot Defl F o e €

Stigmasterol

A
Rt
Sitosterol

B
Rrereda
Cholesterol

c
BRI
Campesterol

D
T

Correct Ans : C

Q.No: 14
2415403 A pentasaccharide that contains four units of galactose and one unit of sucrose, occurs mostly in leguminous plants, which among the following is the example of pentasaccharide sugar

T Ferigs Rl e 1 AR gl iR P #1 o 5 € 1, SR wefiar Dl A gt €, < Frefofea 4 9 Yerddrgs I @ garewor @

Maltose
A

R

Verbascose
B

T

Raffinose
c

W

Pyranose
D

TR

Correct Ans : B

Q.No: 15
2415406 Photosynthetically Active Radiation (PAR) is the portion of the light spectrum accessible for photosynthesis in green plants. What is the range of spectrum of light in terms of PAR?

T WTAS T J T RF0 (PAR) T Wil & T ALaww S R ga TR WeeH B R 81 PAR & He # vt & Wagn o i w82

200 - 400 nm
A

200 - 400 THTH

400 - 700 nm
B

400 - 700 TITH

750 - 900 nm
C

750 - 900 THIH

800 - 1000 nm
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800 - 1000 TTTH
Correct Ans : B
.No: 16
2415410 The phytotropins are specialized class of auxin transport inhibitors which show high affinity with

TRARA SR g FIRR ¥ RARE af E o ¥ Wy I Sefiaal fRama §1

Intrinsic receptors

A
it Fes
Parascorbic acid
B
RrifdE ofrs
Naphthylphthalamic acid
c
AR s
Akinetes
D
LE it

Correct Ans : €

Q.No: 17
2415415 In plant tissue culture, haploid plantlets can be obtained from

TRY Had Hadd #, smfdrd delf 1 o R a1 v ¢-

Callus culture

A
o w
Another culture
B
3 wepla
Shoot culture
c
TE FER
Tissue culture
D

Fa® HadT

Correct Ans : B

Q.No: 18
2415417 Name the chemical which is used for protoplast fusion

I T F1 T FAI5T e ST SeRe Gaa 3 o S ¢

Polyethylene glycol

A
L icibicEo ey
Agar
B
SRt
Sodium chloride
c
wifyan wivgs
Mannitol
D
wfie

Correct Ans : A

Q.No: 19
2415419 The growth movement in response to touch, or contact of a foreign body, in plants is called

deff 3 el R s & <o an Wi it il & 9f2 @ 1y e 2-

Tendrils
A

Thigmotropism
B

Chemotaxis
c
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PR

Thigmotaxis

e

Correct Ans : B

Q.No: 20
2415422 During the process of photorespiration which one of these are synthesized

T 4 Y RT3 AR T QA e S g 82

NADPH
A
TS
ATP
B
wédt
CO:2
c
CO2
Sugars
D
ki

Correct Ans : €

Q.No: 21
2415451 Which pregram help the recovery of endangered species by preserving the existing gene pool and preventing inbreeding

P W A ARl S I P IR S IR SR B A5 g vt ) TGt F Heg e g

breeding Programme

A
WO DB
Reforming program
B
QUR FrdwH
Recharging program
Cc
feanfifr wrdew
Conserving program
D

W& T

Correct Ans : A

Q.No: 22
2415452 A cross is made between two homozygous parent plants, is called monohybrid cross. In this cross genotypic ratio is

QX IR T el F A O Heww S o 8, R AR wiE wea ¥ 3 sl dReRie ogue d §

1:2:1
A

1:2:1

1:2
B

1:2

1:1:2
c

1:1:2

2:1:1
D

2:1:1

Correct Ans : A

Q.No: 23
2415455 Golden rice is a genetically engineered variety of rice developed by inserting a gene from and a gene from found in soil

Tes TEE 1699 $t HFERE FU A TR BFE AR AR T oiad _ ek A v ofF Sraes e fear mar @1

maize and bacteria

w1 o A

rye and fungi
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W IR Faw

maize and rye

T AR T

maize and fungi

TR AR T

Correct Ans : A

Q.No: 24
2415456 The process by which particular homozygous plant varieties can be selected for creating next generations.

7% Wi e R ot didt & o & e Rk worgrrel delt 3t frelt @1 9= fra o1 @ 21

inaculation
A
Liezcaud
Selection
B
T
inducing
C
aRT
preservation
D

b

Correct Ans : B

.No: 25
2415457 Which was first Indian dwarf amber grained variety of wheat made from Sonara 64 by y -gamma rays

T RO B AT 64 A R i 3t Tee wkea S wrer o el e B @ e

sona
A
A
Kalyan
B
F
Sharbati sonara
c
Ruccibiciid
Sonalika
D
e

Correct Ans : €

Q.No: 26
2415461 Which one is the first crop plant whose whole genome was sequenced in 2010.

e B el 1 9 ¢ PRt g1 SfiHim 2010 F srgwiad R mn

Oryza australiensis (Australian rice)

A
St st (sifRfm wew)
Oryza sativa (Asian rice)
B
e Afear (wraré )
Oryza glaberrima (African rice)
c
i AR (3T )
Oryza longiglumis (New Guinea rice )
D

Sitfe aRraRa (= et awa)

Correct Ans : €

Q.No: 27
2415462 Pusa Lerma is an improved variety of

o il Rt I fre &7

Wheat
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Maize
B
Lol
Soyabean
[
W
Rice
D
Eiond

Correct Ans : A

Q.No: 28

2415463 A hybrid is
@ U Y
Homozygous

RIS

Mutant
Safadt

Heterozygous

Rrawgortt

Heterogenous

R

Correct Ans : €

.No: 29
2415467 Which term leads to rapid formation of new species through the development of multiple sets of chromosomes

PH T e PRGN F T I & R F memm I 7 gorfedt & a0 J 7o 3 oIk o &

Polyploidy
A

TrftwiEdt

Polysomy
B

s

Disomy
C

it

eugamy
D

T

Correct Ans : A

Q.No: 30
2415471 When pollination and fertilization occur in unopened flower bud, it is known as

v G T Felt A W R e A €, @ 5@ ¥ U F S S ¥

Cleistogamy
Rl
Oligogenic
Eusueieed

Anemophilous

FE

Protogyny

weRrft

Correct Ans : A

Q.No: 31
2416107 Who among the following is known as Father of Tillage
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Fraffea & 3 3o &1 o A o 8

J B Lawes
A

@ & o

Jethro Tull
B

i g

Liebig
c

fafer

Blackman
D

oz

Correct Ans : B

Q.No: 32
2416108 'Theory of humus’ was explained during:

T P G P FHGT T

1809
A

1809

1819
B

1819

1919
Cc

1919

1909
D

1909

Correct Ans : A

Q.No: 33
2416109 Triticale is a cross between

fofeder e & v G T 3

Wheat and barley

A
A o o
Wheat and oats
B
A o o
Barley and rye
C
o ok ¢
Wheat and rye
D

g o

Correct Ans : D

Q.No: 34
2416110 Agro-climatic regional planning was initiated in India with the inception of

YRA § P-srrary & QAT S L F Y F W IS Ol Tl

First Five year plan

A

W day g

Grow more food Campaign
B

fre @ IueTy AR

In late eighties
c

it ¥ T F1 Iwad

The Seventh Five year plan
D

|TedY reradta Qe

Correct Ans : D
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Q.No: 35
2416111 The abiotic component of agro-ecological zone comprises of

FR-oRFRR M 47 F R vee J Fufifea e ¥

Light, water and animals

A
I, T SR Oy
Minerals, plants and soil organisms
B
@, 9 3R R} & shtarg
Non-living things like water, minerals, salts, atmospheric gases, energy like light, heat and stored energy
c
Water, wind and plants
D

T, T ofte Y

Correct Ans : €

Q.No: 36
2416112 Ability of a system to manage the resources of agriculture to satisfy changing human needs, while maintaining or enhancing the natural resource base, while avoiding environmental degradation is known as

TP YOIl Bt TafaRvr F &R0 A T SR Wplad WA F YR B T TG 91 Ig1 P T1Y-TY Tead AT SReddl B G- $A F e F F Fmedt o1 veed $3 F amra 3 f6g 7w I S S 82

An efficient system

A

T g ot

a productive system
B

TF A TRt

a sustainable system
c

T Tt ot

high input agriculture
D

I T T P

Correct Ans : C

Q.No: 37
2416113 Crop mixtures have proved most dynamic, biologically under

wH F Mo HE T A TR it Frarha wEE §eE.....

Irrigated conditions

A
Rifera fRufod? &
high soil fertility conditions
B
frft 2t 3= o Bt Ry &
water stress conditions
c
o e o R A
large holding conditions
D

=3t BT it Rl 3
Correct Ans : €
Q.No: 38
2416115 Which one of the following pairs is not correctly matched

fruffEa & @ frw gm ) et o & e fivem mn &

Relay cropping: Sowing Berseem In Rice Crop Prior To Harvest

A
& woe: Ferd @ ved v A vaw F axedie I gard
Intercropping: Sowing Wheat After Rice
B
SfT-Tw: U & arg A A qar
Multi-tier cropping: Coconut — Pepper- Cacao-Pineapple
c
g-TT ww: TNGE - P - Bt-mE
b Sole cropping: Potato
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THE B AT,

Correct Ans : B

Q.No: 39
2416116 As per the principle of crop rotation, pulses should be included in crop rotation as

T T & g F STER TuEEl B Hud 9% . % forg wnferer foran s iR

They increase the total pulse production

A
ATAF FATARA A IR FRAE
They maintain the soil fertility by fixing atmospheric nitrogen
B
3 Trgrisdi e Y fRR 7 Aft At R e T ¥
They are short duration crops
c
ow ol A wad §
They increase the yield of the succeeding cereal crop
D

Fae A A TRTR o A rEa A S A I IR Y

Correct Ans : B

Q.No: 40
2416118 Iron was proved to be essential for plants by:

W @ Rwds R Nl & R sravas wmift e

E. Gris
A

{.fw

C. Sprengel
B

. Sfte

H.J. Evans
c

. 9. @

N. I. Vavilov
D

. o1, Tty

Correct Ans : A

Q.No: 41
2416143 In Soil Science "Micelle” stands for

e Fm # R w1 orf &

Colloidal particle carrying positive charge

A
FTE TS T FIA A HIARS! T
Colloidal particle carrying negative charge
B
FHUTEE Tt IE A A FreAESt B0
Micropores in between textural particles
c
FEE Uil & & F wgwe
Negatively charged silt particles with high CEC.
D

I i & Wy TeRes w9 3 9 fRg T e s

Correct Ans : D

Q.No: 42
2416145 Triazines in soil are degraded by:

R A <R &1 aju % ¥
Azotobacter
A
THRIER
Aspergillus sp.
B
TR Tl
V.AM.
c

Page- 99



Road.

Correct Ans : B

Q.No: 43
2416573 The available water holding capacity (AWHC) of sandy loam soil is:

o A gt 3 et R e (TSRt W o 3:

0.20 g/ cc

0.20 g/ cc

0.16 g/ cc

0.16 g/ cc

0.18 g/ cc

0.18 g/ cc

0.11g/cc

0.11 g/cc

Correct Ans : B

Q.No: 44

2416574 Capillary and non capillary pores must be in proportion for good crop production:

I TR 3 IR R Fuerdt iR - uert fox ST ¥ B e
25:75
25:75
50:50
50:50
75:25
75:25
80:20
80:20
Correct Ans : B
25’«1‘:5471 Soils with Bulk density 1.325g/cc and Particle density of 2.65 g/cc consist of a total porosity of:

U T 1.3259/cc AR 2.65 g/cc F U1 U@ areh Frt A T ot &

30%
A

30%

50%
B

50%

40%
c

40%

60%
D

60%

Correct Ans : B

Q.No: 46
2416627 Zinc, Boron, Mangenese, Molybednum, Iron and Copper are called micro nutrients, because they are

i, AR, A, MRTETH, R iR PR B Y& UG 7 Fel o 8, TS 3§
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Nutrients required for micro-organism growth

A
& il & Rem $ R smaws due o
Essential nutrients but required by plants in minute quantities
B
IS GG aed b1 Gl GRT GAaH 31 F JTawaH
Nutrients of microscopic significance
c
YR TEd & 1S 9@
Nutrients which are not e3ssential for plant growth
D

W 7@ ot 9 g F Ry smavas T80 E

Correct Ans : B

Q.No: 47
2416629 Number of land capability class as per Soil Survey of India is:

YRA ¥ T3 TGO & TER A &7 R 1enika ol o WS B

12
A

12

10
B

10

8
c

8

6
D

6

Correct Ans : €

Q.No: 48
2416631 Addition of excess quantity of available phosphatic fertilizer to soil may affect

it A S whbRe Idve Bt ofE A Y Siig A W & e

i of iron and i

A

TR AR TegHiraE St siftrear

Reduced Zn availability
B

BH Zn STGXAT

Reduced availability of Ca
c

Ca %} &0 I

ibition of growth of mi gani:

D

Yeoial & e ¥ ToEe

Correct Ans : B

Q.No: 49
2416638 Conversion of NHto NO; in soil is brought about by

ALY & NH, &1 NO, # aRade frad garr gar &

Nitrosomonas

A

ElEcsiuieit

Nitrobacter
B

AEERTR

Pseudomonas
c

e

Rhizobium
D

EiFEnEesd

Correct Ans : A
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Q.No: 50
2416744 Indicator plant for boron deficiency is:

IR P Brft & R e e #:
Potato

RS

Sugarbeet

™R

Sunflower

oot

Corn

P

Correct Ans : €

Q.No: 51
2416772 Rice is believed to be originated from:

T @ I SR 1 4 HIT S 8

South east Asia

A
for o et
India
B
HRd
Australia
c
sifeferar
China
D
&=

Correct Ans : A

Q.No: 52
2416773 Recovery phase or trar ing shock of tr rice is around

TR U1 T UR TR0 A1 TR0 S 31 sqafy dor 3 ardre @ et

2 -4 days
A

2-af=

4 -10 days
B

4-10fF

10 - 15 days
c

10-15R7

15 - 20 days
D

15-20 T

Correct Ans : B

Q.No: 53
2416774 Country which is pioneer in hybrid rice is :

W U & T 7 T oo 4 R
China
A
Cid
India
B
uRA
Japan
[
T
Philippines
D

from the date of transplanting:

# R E:
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et

Correct Ans : A

Q.No: 54
2416775 Days required for transplanting rice seedlings under dapog nursery is:

STAT T & Sierfd 4F @ A0 F R ....... R A sl # wwwa @ @

10
A

10

14
B

14

21
c

21

28
D

28

Correct Ans : B

Q.No: 55
2416776 Number of leaves c i optimum for ing rice seedlings is

A 1 S & Rie srgeiE 7 T areh ot o e 3

1-2
A

1-2

2-3
B

2-3

3-4
c

3-4

4-5
D

4-5

Correct Ans : D

Q.No: 56
2416778 Khaira disease in rice is due to deficiency of:

o B A et o A g

Zn

Zn

Fe

Fe

Correct Ans : A

Q.No: 57
2416779 The main objective of intercropping is to

SR P S I3 8

Help the main crop grow better

A
TET T I AFR I | I § 7eg I
Improve the soil fertility
B
Rt A 3dea F UR FT
Check soil eresion
c
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Tt & Fea It s

Get additional crop and income

sfefee wea iR o v we

Correct Ans : D

Q.No: 58
2416780 DAPOG method of crop raising is associated with

T ITA F DAPOG TR HafE &

Seed bed preparation

A
o Tt duR T
Nursery raising without soil
B
o Bt & =l e
Intercultivation
c
Sfaphr
Weed management
D

TIUATR T

Correct Ans : B

Q.No: 59
2416781 Which of its husked dal is used to mix with rice flour for preparation of idli and dosa:

g&ell MR e @A & Rie e A Brw < @ 1@ P @3 I8 9@ F ok A e s

Greem gram

A
LRl
Cow pea
B
e
Black gram
c
BT T
Gram
D
EEl

Correct Ans : €

.No: 60
2416782 Pulse crop gown for grain, fodder and green manure is:

o5 T Baa 1 3, IR IR 78 T 3 R g S g

Lentil
A
LSy
Redgram
B
e T
Gram
[+
Rkl
Cowpea
D
e

Correct Ans : D

Q.No: 61
2416823 Global warming is mainly due to increase in concentration of

e AT e w0 A T Tiga 7 i & PR

co,
A
coz
02
B
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02

NO2
c

NO2

Hz
D

Hy

Correct Ans : A

.No: 62
2416824 Which of the following gases has 20 times more potential for causing global warming than CO;

Profafea A frw 7 7 co, 3 gon A e @i i F B emar 20 T 4RF §

S0,
A

$0,

NH3
B

NH3

CH,
c

CH,

N20
D

N20

Correct Ans : C

Q.No: 63

2416825 What type of radiation is trapped on earth’s surface as a result of greenhouse effect

MHESE WA F TRUIRGET Qft 9t Wag W R W 1 R G S

UV rays
A
TR R
X rays
B
T fvdt
Gamma rays
C
Ritdcaut
Infrared rays
D

Sravae fot

Correct Ans : D

Q.No: 64
2416826 In India, the highest sunshine hours per day is in the moth of

R ¥, 7R R T 3t U &1 W SR A A

March

April

June

4l

Correct Ans : €

Q.No: 65
2416827 When Industrial chemicals combine with condensing vapour, it results into

wrq e <A I AT & WY 9Ea 8, @ 3961 aROm g 7
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Global warming

A
AT Sufiww
Acid Rain
B
ot quf
Basic rain
C
g i
Green house effect
D

Agrew uva

Correct Ans : B

Q.No: 66
2416829 When the annual rainfall is less than normal for a prolonged period over an area, it is considered as

v el 4 & et sy & o i aof W & om Al €, & 99 W S g

Agricultural Drought

A
o
Hydrological drought
B
TESIaTE gt
Meteorological drought
c
st wadh g
Seasonal drought
D

e g
Correct Ans : €

Q.No: 67
2416830 Short supply of water to meet the demand for crop duration is called

H B Sl 7 B g D & g o 3 FH gl B e o @

Hydrological drought

A
TRSEed gar
Meteorclogical drought
B
wrm Hddt @
Agricultural Drought
c
kik el
Dryland agriculture
D

Ty 7l

Correct Ans : C

Q.No: 68

2416831 The moisture index is maximum in
T T qete fuman §
Perhumid
Arid
b
Semiarid

WHftars

Humid

ELS

Correct Ans : A
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Q.No: 69
2416832 When a prolonged drought results in drying of available water sources like streams, tanks, reservoirs, wells etc., it is called as

T4 TR Y OF Y@ F IO IUTH T 6 9 R, ¥, Ser, U i 9 1 Y, @ 38w e o §

Agricultural Drought

A
PR
Meteorological Drought
B
Wi wad @
Hydrological Drought
c
TEFITE T
Seasonal Drought
D

et

Correct Ans : €

.No: 70
2416833 Which one of the following gases contributes maximum to “green house” effect

Prafefea 4 3 97 R i i Tear iR A sftear dmem 4 ¥

co
A

co

co>
B

coz

CHa
c

CHa

N20
D

N20

Correct Ans : B

Q.No: 71
2416927 Method of controlling aquatic weeds is termed as

et @] ) Fdfa Fe R e ¥
Flooding
A
aw
dredging
B
P
mulching
c
TR
solarization
D

o
Correct Ans : B
Q.No: 72
2416928 Flame cultivation is used in which of the fcllowing crops

e Bt Iedm FafiEd 3 § R v J R s

Tomato

Potato
e
Brinjal
¥

Chillies
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frd

Correct Ans : B

Q.No: 73
2416932 Average loss of agricultural produce due to weeds in India is estimated to be around

YRA ¥ TRUAER] S DR I I 1 3 THAH T G BT T §

33%
A

33%

45%
B

45%

43%
c

43%

23%
D

23%

Correct Ans : A

Q.No: 74
2416933 Weeds which are monocot in nature belong to the family

TR S W & T 91 8, vty 1 8 ¥

Asteraceae
A
TR
Cyperaceae
B
g
Fabaceae
c
Tatht
Poaceae
D
b}

Correct Ans : D

Q.No: 75
2416939 Weeds which are of no use and does not have any economic value are known as

3 TRUTER S el T & T A IR R 1 i T T 9, Tew €

Relative weed

A
A TRITAR
Absolute weed
B
of wwmRR
Rogue weeds
c
T HIEH
Exotic weeds
D

et wm

Correct Ans : B

Q.No: 76
2416940 Classification of weeds on the basis of reproduction was given by

T & SMUR R GG 1 i Rads grr R mar ur

Fischer
A
frm
Muenscher
B
TR
Tull
c
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o
Garner
i

Correct Ans : B

Q.No: 77
2416941 Weed seeds which are difficult to separate out once mixed with crop seeds are known as

TRIER & d B T aR e 3 et 3 e W o S e 8 8, Hea §

noxious
A

TRERE

objectionable
B

Safvrre

poisonous
c

faten

parasitic
D

AR

Correct Ans : B

Q.No: 78
2416942 Weed of a family having angular stem with glossy leaves and prominent mid-rib

IR IRl AR T 5 0ol & W ol 73 a1 @RI 3 wenfa 8-

Amaranthaceae
A
AR
Fabaceae
B
Tt
Cyperaceae
c
ATFIR
Poaceae
D
L

Correct Ans : €

2;115963 Loose smut in wheat can be effectively controlled by

W A o e 1 e g e w0 & P e o wea

Crop rotation

A
B BT TfpERor
Soil with
B
IR-yuretTe et & W frd @1 SwR
seed with i icis
c
yoeitT At ¥ @ de SR
the crop with i
D

THA W PEE! B fSgea

Correct Ans : C

Q.No: 80

2416965 Which one of the following is the correct mode of infection in Ergot of bajra (pearimillet)
Profefea & 3 1 aoR (@O F e F Femw 1 we wlie §
Shoot infection

T A

Local infection of blossom
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B ST T WHAT

Seedling infection

Realiciy

Systemic infection

WOITefterer ST

Correct Ans : B

Q.No: 81
2417029 “Protective food” includes

R e A Tt §

Fruits and vegetables

A
v o wfdmai
cereals
B
ST
Fruits
C
wa
Vegetables
D
wferat

Correct Ans : A

.No: 82
2417030 Richest source of Vitamin C

o <t 1 9 o W

Aonla

Mango

Citrus

e

Correct Ans : A

Q.No: 83
2417031 Modified stem of Banana is

F 1 WA T

Sward sucker

A
qura yfy wiaR g
Rhizomes
B
W
Water suckers
c
TRt e A
Corm
D
ko

Correct Ans : B

.No: 84
2417035 Which country has the highest production of fruits and vegetables

el SR wferl o1 el st e & A da @

India
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USA
B

Ersico]

China
c

Lict

Brazil
D

wifor

Correct Ans : €

Q.No: 85
2417036 Air layering is most common method of propagation in

TR Jafe TR &1 wad oW ale §

Litchi
ot

Aonla

Guava
SAEG
Correct Ans : A
.No: 86
2417037 Which of the following is known as ripening hormone

Prafefa & i 7o aren gl oot T §

¥ (GA3)

Auxin

SR

Ethylene

ot ofirs (aBA)

Correct Ans : €

Q.No: 87
2417038 The part of plant on which grafting is done is called

o @ 78 M R TR AR W 2, e §

Root stock
A
TE RS
Stem
B
a
Scion
c
o
branches
D
Rutciend

Correct Ans : A

Q.No: 88
2417039 Bending is practice in guava to encourage
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RGP TG & e A e &

Better sprouting
A

Rt ol

Better ripening
B

TR T

Better quality
C

g T

Better fruiting
D

Fg TE

Correct Ans : D

Q.No: 89
2417047 Fruit is basically a

el P Y @

Ripened seed

A
ot gt e
Ripened ovule
B
TP §IT 3SR
Ripened ovary
[
TP G ST
Ripened calyx
D

T gt e
Correct Ans : C

.No: 90
2417048 Technique which is used to disinfect seed bed

AT A A T FhemRRe F ¥ g i o @

Scarification

A
Luicai]
solarization

B
HRor
stratification

C
-
alinization

D
Ercaud

Correct Ans : B

.No: 91
2417162 The major activities of agricultural extension division Are..?

PR RER wum F1 wga kil 82

Technology assessment.

A
et geaie
Farming
B
wex
Development of skill.
c
& R
Entertainment
D

ko

Correct Ans : A
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Q.No: 92
2417163 Which is the first step of extension educational process?

T TPIAT VR BT Ugdl WOl B 87

Collection of facts

A
@ T g
Cultural activity
B
Ruferal 1 fadaur
Doing by learning
c
@ affa
Deciding on realistic objectives
D

YAt At W frofa & m

Correct Ans : A

Q.No: 93
2417164 The latin roots for the word ‘Extension’

T Wi & forg dfeA @

Ex and tension

A
T o
Ex and ten
B
T SR
Ex and lucco
c
T AR @
Ex and termo
D

T R Tl

Correct Ans : B

Q.No: 94
2417165 Farmers first’ model was put forwarded by

fargrl & uga wied B GRI 3 0 T AT

Robert Chamber

A
e F
Readdy
B
ks
Knapp
c
A9
Berlo
D
=@l

Correct Ans : A

Q.No: 95
2417166 The main mode of extension in the ‘farmers first’ model is

T TR ST A e S AT WS

Farmer to farmer

A
e @ R
Agent to farmer
B
e @ R
Research to agent
c
TR | Tl
b Farmer to scientist
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e & At

Correct Ans : A

Q.No: 96
2417167 Andragogy’ is for

e wfmd
Children
A
=
Older person
B
T
Male person
c
Wa v
Female person
D

i wd=

Correct Ans : A

Q.No: 97
2417168 The term ‘Pedagogy’ literally means

ISR e P Mo o §

School dropout

A
ara fign
Adult learning
B
Tue Rt
Balvadi training
c
TEard ¥
Aganvadi Training
D

strargt

Correct Ans : B

Q.No: 98
2417170 First line demonstration was launched by

T R BT Ve & foan T

Extension education

A
Rrar Riem g/t
Physical education
B
ity R grr
Anthropolagy education
C
Wit et gr
Demonstration
D

wiTe gR

Correct Ans : D

Q.No: 99
2417171 James Stuart associated with

g AW

Extension education

A
e fram
University extension
B
Reyfeme Ream
Anclent education
c
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Tt TR

Mordern Education

WA TEA

Correct Ans : A

Q.No: 100
2417174 Who is father of extension in India?

MRS B TRRTH 1 9 BH 87

Robert Chamber

A
e daw
A. Reddy
B
o
K.N. Singh
c
. e
Berlo
D
kil

Correct Ans : C

Q.No: 101
2413595 What is approximately share of India in the global agri-trade?

Ay FR-aIR F HRa 1 e v o 22

2.5%
A

2.5%

4.5%
B

4.5%

8.5%
C

8.5%

9.0%
D

9.0%

Correct Ans : A

Q.No: 102
2413598 In India, Tank irrigation is more common in which of the following regions:

HRa ¥ Prafifea # 3 e &7 9, e (29) 3 R ofie wfa 3:

Rocky plateau regions with uneven and highly seasonal rainfalls

A
SreEr R arcafire drerdt auf ard g werd 8w
Regions with presence of perennial rivers and plenty of rainfall
B
FREwrR ARl o W aof @ &=
Arid and Semi-Arid regions with scanty rainfall
[+
& A o AR o &
Coastal regions with regular rainfall
D

Frafir qui o adia &=
Correct Ans : A
.No: 103
2413600 Which of the following is not a category of seeds?

Profifea & & 9 &l 1 o ol W ¥

Foundation seeds
TR A

Breeder seeds
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A da

Certified seeds

bpitckicy

Edged seeds

URER (T)

Correct Ans : D

Q.No: 104
2413603 Which among the following revolutions is related to ‘fertilizers?

Prafafed 7 @ -0 Bifa gder & Jefa @2

Silver Revolution

A
o e
Pink Revolution
B
Tard wify
Grey Revolution
c
oyl wife
Golden Revolution
D

wauf wifa

Correct Ans : €

Q.No: 105
2413604 Which of following is a cash crop?

Profeifea wedl # @ T dt v B 9@ 8

Rice

Wheat

g

Sugarcane

Iq

Correct Ans : €

Q.No: 106
2413605 Pusa hybrid 4 is a variety of:

Potato
A

S

Tomato
B

TR

Banana
c

Far

Brinjal
D

¥

Correct Ans : B

Q.No: 107
2413608 Minimum Support Price (MSP) was intreduced in India in which year?

YRA H Z A e (reedt) e ad e fn e

1962
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1962

1965
B

1965

1969
Cc

1969

1975
D

1975

Correct Ans : B

Q.No: 108
2413611 What is the main purpose of buffer stock in India?

URA H TR IS T GOT I 8?2

To reduce food price fluctuations

A

TR Pl # IAR-TGT Bt S SIAT

To save food grains from environment threats
B

ST i TutaRor & e & Err

To provide farmers a place to save food grains
c

T & fog @rTA aur 9 9E Suae S

To increase the productivity of food grain
D

WRITH B IATGEHT qgHT

Correct Ans : A

Q.No: 109
2413612 Approximately what fraction of India's total edible oil demand is met through imports?

YRT & TR A T a1 7 F am o R smme & gr @ e o @2

20%
A

20%

30%
B

30%

50%
C

50%

60%
D

60%

Correct Ans : D

.No: 110
2413613 What is India's rank in the global groundnut production?

fay ¥ HTwed I A 4R F DA | RIA &2

First
A

Tear

Second
B

Ll

Third
c

de

Fourth
D

ar

Correct Ans : B

Q.No: 111
2415307 Farmers can prevent and slow down soil erosion by
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3 RFEH 71 3RS P A5 TP § IR 3 WHa 71 o R e 8-

Cover their crops with a tarp

A
et e B o & G ¥
Water the soil everyday in order to way it down
B
&1 w1 AR AR & Ry vfaf writ 3
Plant crops, plants, etc. to hold the soil in place
c
& 1 JTR WTE W I F R waw 7 A ol wd
Cut down all of the trees and crops.
D

Wit 95 ol wel 3t PE ST

Correct Ans : €

Q.No: 112

2415309 The plantation in a huge manner to prevent soil erosion agzinst wind and severe weather is called-

a1 R U8 %Y & REg Ja1 9Red F1 453 & Ry 73 IR W gardun ) 5 wed 3-

Shelter Belts

A
1K AT
Contour Farming
B
wite &R
Strip Farming
c
[eaint
Forestation
D

T

Correct Ans : A

Q.No: 113
2415311 In area of hill slopes soil erosion can be controlled by-

eI Tl TR HET SoReA ) R R o g 2-

Deforestation
A
Step farming
B
widler @@
Strip cropping
c
Ru &t
Linear contour ploughing
D

Y e g

Correct Ans : D

Q.No: 114
2415312 In which climate soil develops slowly?

forr ey 31 1 T R- o g 2

Summer season
A

e %y

Windy seasan
B

Tl 31 %y

Rainy season
[

i %Y

Cold season
D

RUCE
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Correct Ans : D

Q.No: 115
2415313 What is called for the mature soils which are arranged in a series of zones?

ofRaad ger & g o g1 I €, S 8l 9 T e § waafke g 2-

Soil zones
A

T &

Soil layers
B

Eokibic]

Soil horizons
c

T HER

Soil benches
D

@ &

Correct Ans : €

Q.No: 116
2415315 Which soil is developed in areas with high temperature and heavy rainfall?

PR T I AT SR W T A 41 R gt 3-

Black Soils
A

et firdt

Red Soils
B

ara frdt

Laterite Soils
c

Aewrge et

Loamy soil
D

agd Pt

Correct Ans : €

Q.No: 117
2415316 Which types of soils have maximum amount of water retaining capacity

8 UHR #) R A ot yRY gH 29 SiftEad 7= A 8

Desert soil
A

Yfirerit frgt

Mountain soil
B

wrs 9 gt

Alluvial soil
c

et it

Regur soil
D

e frdt

Correct Ans : D

Q.No: 118
2415318 The another name of acid or alkaline soil which is used to designate hard and intractable soil is

ST & firedt o1 gERn A T § o I9am FOR R s 7R Y K F F forg o o g-

Regur soil
A
R
Bangar
B
aw
Kallar
c
PR
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Khadar

Correct Ans : €

Q.No: 119
2415321 Black soils are black in colors due to humus, Iron and

T R T e, ds w3 IuRifd & w3

Sulfur

Nitrogen

e

Aluminum

Tegfifa

Phosphorus

TRERE

Correct Ans : C

Q.No: 120
2415322 Which is the most effective and piratical way to raise the PH of acid soil?

3ircfia B &1 pH g F1 I gt R RIS i B &-

Calcium mono hydroxide

A
Sfeerm A arestaTss
Lime

B
e
Phosphorus

c
ERERE
Calcium phosphate

D

o wiere

Correct Ans : B

Q.No: 121
2415508 Which of the following is the best fertilizer for basal application in paddy puddied field

Frofifea 7 & 21 9 uF & 9 7 I A I9a I R wE ST g g2

Ammonium Sulphate

A
S el
Urea
B
gt
Di-ammonium Phosphate
c
STé-3rtfrae wiehe
Calcium Nitrate
D

Ffemw T

Correct Ans : €

Q.No: 122
2415509 Most predominant cropping system in India is

MR 7 TR T WO §

Rice - wheat

o - g
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Rice - rice

B

U - 4T

Sugarcane - sugarcane
c

REIERIE|S

Arhar - mung
D

SRE -

Correct Ans : A

Q.No: 123
2415510 Best time for sowing deep water rice is

TR UF A Bt A O ) A Tl ST W g &

Last week of June to first week of July

A
A ¥F Sifew g A Jar F 05 §EE 9
Mid June

B
Lol
Mid July

Cc
wu e
Early August

D

3T B g F

Correct Ans : A

Q.No: 124
2415511 Fertilizer use efficiency in transplanted rice is

TR wF ¥ I 3 J-gern A &

75%

75%

50%

50%

25%

25%

85%

85%

Correct Ans : €

Q.No: 125
2415520 In India, which type of maize is mainly grown

& T4 4RA A 59 YSR ST AT I o @

Dent Corm
A

et

Sweet corn
B

e =

Flint Corn
c

e o

Waxy corn
D

Lok

Correct Ans : €

.No: 126
2415521 ‘'White Bud’ of maize is a deficiency symptom of

W A a1 78 R 7@ @ @ 1 aam e 87
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Zinc

A
Rl
Iron
B
e
Potassium
C
urRr
Phosphorus
D
BRERA

Correct Ans : A

Q.No: 1.
2415522 Generally maize produces number of internodes
S AR R T Esgisnbakie koo
10
A
10
14
B
14
18
c
18
20
D
20

Correct Ans : B

.No: 128
2415532 Seed rate required for transplanted pearl millet is

AR 0 3 R i S Y o R AN

1kg/ha

A
1 fem/ARm
2 kg/ha

B
2 fFmARw
S kg/ha

c
5 fem/ARm
10 kg/ha

D
10 fem/dRw

Correct Ans : B

.No: 129
2415533 Optimum seed rate for pigeon pea or red gram is

IRER TN A T & Rrw A S I IR R R

10 kg/ha
A
10 R/ R
15 kg/ha
B
15 fem/ R
20 kg/ha
c
20 fem/ART
25 kg/ha
D
25 fFur/dRw

Correct Ans : B
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Q.No: 130
2415534 The seed rate for summer mungbean or greengram is

Frorpreta g1 1 Ah F e 4 SR ARG §

10 - 12 kg/ha

A
10 - 12 fw/3RT
20 - 25 kg/ha

B
20 - 25 fFU/ARW
30-35kg/ha

c
30- 35 frm / W
35 - 40 kg/ha

D
35 - 40 frm / IR

Correct Ans : B

Q.No: 131
2417221 Active soil forming factors would include:

it & At e R A Wit 8

Vegetation and topography

A
T IR REPRY
Time, topography and climate
B
Y, REATPh R SEarg
Time and vegetation
c
WY R Tt
vegetation and climate
D

Tty o wearg

Correct Ans : B

Q.No: 132
2417223 Arrangement of soil particles is referred to as:

Il & ol ) AR B B I L.

Soil structure

A
ot <t v
Soil texture
B
ot St amae
Soil organization
c
Pt &t aaen
Soil profile
D
ot it iwga

Correct Ans : A

Q.No: 133
2417226 Soil fertility does not depend on:

A o8 e o e Pt ol e 22

Physlical condition of soil

A
Port o 2 R
Chemical condition of soil
B
Pt ot T Rdfy
Biological condition of sail
C
ot 2t S Rufar
Climate
D
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ey

Correct Ans : D

Q.No: 134
2417227 Soil quality is generally enhanced by greater.

STTAR R 2 frgt A o A o o At ®1

Organic matter

A
FTdF werd
Soil structure
B
frft =t s
Water holding capacity
c
W YR &EEl
Soil texture
D

gt t amae

Correct Ans : A

Q.No: 135
2417228 Microbial decomposition of organic matter is called:

P verdl & Yerltdl Sided 1 T FE I 87

Manure
A
R’
Humus
B
el
Vermicompost
c
Lriczid
Biofertilizer
D

Rekcied

Correct Ans : B

Q.No: 136
2417231 Blue - green algae grow best in:

Heft- 7 T TR o e el Tod 2

Upland rice

A
YR F A
Lowland rice
B
W F uHA H
Sorghum
c
R &
Jute
D
eH

Correct Ans : B

Q.No: 137
2417232 Buffering capacity of soil means resistance to a change in:

A A Il e T ol 7 . .. ¥ afkad 1 afoddug<a @ gwan

Soil microbial activity

A
ordt <t e Shtary wiefafy
Soil acidity
B
gt it anerar
Soil pH
c
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[Erikatiied

Base saturation

SR W

Correct Ans : €

Q.No: 138

2417235 Continuous heavy rainfall leads to the formation of:

AR AR a9 F1 aore S e P g g2

Saline soil

iy fardt

Sedic soil

wisw gt

Acid soil

sty Rt

Saline - sodic soil

Tl - wifw frdt

Correct Ans : C

Q.No: 139
2417236

Criteria of essentiality by given by:

Sifyarfar 1 AFds Rrad gri R 22

Jean Baptist

i 3t

Liegbig

Bivicud

Arnon

S

Julis Von Suches

<ftra a

Correct Ans : €

Q-No: 140

2417237 Deficiency of several elements is exhibited first in the apical region of the growing part due to their:

% dl F1 FH FE Ue R g1 um & R & A

Autolysis

Siicreargfr

Mobile nature

arge wpfr

Translocation

Immobile nature

sa PR

Correct Ans : D

Q.No: 141
2417380

"Retort” is essential for

.. ¥ fore smazue #1

Vegetable Canning

Wit 9 feamadt

Fruit Canning

.. BRI R & §1
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wa 3t feamd

wine
C

W

Jam
D

S

Correct Ans : A

Q.No: 142

2417381 Which of the following is the post harvest physiological disorder of mango

T 3T A B & 1% o a1 IR RER w1 @2

Black Tip
A
= Ry
Internal Necrosis
B
frerdt wfere
Sap Burn
c
XE T S
Spongy Tissue
D

Tl T

Correct Ans : €

Q.No: 143
2417384 Viral disease transmitted by seed is

o A e e Ry A R
Psorosis

R
Canker
F
Exanthema
TR
Die Back

B ied

Correct Ans : A

Q.No: 144
2417385 Chlorosis in plants is caused due to deficiency of

el # R 3 Bl 3 7o A AR g g2

Mg & Zn
A
el oY SeT
B&P
B
i d}
Ca&O
C
g v o
N & Mn
D
T SR gEeA

Correct Ans : A

Q.No: 145
2417388 Plant growth regulator used for fruit thinning

! & e R IR A 3 S aren el @ e o g
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NAA
B
T
GA3
c
w3
C2H4
D
M2waa

Correct Ans : B

Q.No: 146
2417389 Self-incompatibility does not exist in which mango variety

1 2 R R A w- o T A 82

Chausa
A

e

Langra
B

Lusi

Dashehari
c

el

Mallika
D

Lot

Correct Ans : B

Q.No: 147
2417390 For regular bearing in mango which chemical is recommended

m # Prafia w9 3 wa @ F R fr warm & Sudm 9 R @ 9w 22

GA3
A
e
Cycocel
B
Lecancd
Mancozeb
C
o
Paclobutrozol
D

Yirggeia

Correct Ans : D

Q.No: 148
2417395 Vinegar concentration should not be more than

Rt & Wil ....... A ofdes 7 SR wfew

2
=

8%
10%

10%

Correct Ans : A

.No: 149
2417397 Which sprayer is used suited for spraying operations in kitchen garden
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BH W VR e T A g 3 fore Juge &2

Knapsack Sprayer

A
Ao W
Rocker Sprayer
B
Ricadso
Hand Sprayer
c
FTER
Hand Pump
D
Feuw

Correct Ans : €

Q.No: 150
2417399 Which of the following fruit is not suitable for jam making?

Prafifea 4} 2 @ wa 9w 791 F e 3o 76 82

Mango
A

uH

Anola
B

Sfiqen

Lemon
c

i

Banana
D

Far

Correct Ans : C

Q.No: 151
2417488 Which among of the following is bottom up planning:

Profafa 7 & 3 dreen Prior § w9 Frad @ w g e

ing and visit system

A
wfugor i e Tf
Community specialized approach
B
wgera e @i
Farming system approach
c
wIHT T e
Coast sharing approach
D

AR AR TR

Correct Ans : C

Q.No: 152
2417490 Which of the following is not communication process:

Frfef@a & & 21 o ufa e 8
Source

o

Encoding

R

Transmission

Meetings

Yo

Correct Ans : D
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Q.No: 153
2417494 The third tier of Panchayat Raj is:

B damadt I 1 e

Gram Panchayat

A

7 YarEd

Block Panchayat
B

TS g

ZillaParishad
c

forem aftag

Panchayat Sai
D

vaTTa Wiy

Correct Ans : €

Q.No: 154
2417496 The first state in India to introduce Training and Visit system was :

TftET IR AT TR S FR AT WU W TS o1

West Bengal
A
wfym dmme
Bihar
B
fEr
Uttar Pradesh
c
I W
Rajasthan
D
AR

Correct Ans : D

Q.No: 155
2417497 The new name of VLW is :

VLW T 7T T R

gl

vDOo

Correct Ans : B

Q.No: 156
2417499 The smallest unit of content analysis is:

e fRmam 3t gl B T 8
Theme
A
TUAT
Words
B
g
Characters
c
afex
Items
D
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HIgeH

Correct Ans : B

Q.No: 157
2417500 Freedom from variable errors is known as :

R IR A W B A @R
Reliability
A
Rrrritaar
B
TR
Credibility
c
W
Sustainability
D
fRrar

Correct Ans : A

Q.No: 158
2417501 The lowest common denominator of a test is otherwise called:

el e & el BH I WD ST G Weal A Fel Wl 3

Stem
A

wu

Item
B

HTFTH

Root
c

we

Base
D

|

Correct Ans : B

Q.No: 159
2417502 Attitude scales are used to measure:

wegs W o1 guam Prfda ¥ 3 5w F R e s @

Opinion
A

i

Judgement
B

Profa

Fact
c

T

Reality
D

IR

Correct Ans : A

Q.No: 160
2417503 Age, Sex and caste indicate:

3y, fRfm SR SR Rt Wb e 8

Social status

A
wmi R
Class status
B
o #fiaa
Ascribed status
c
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ffée #ma

Achieved status

siftfa B

Correct Ans : €

Q.No: 161
2417769 Which is not a trait that should be incorporated in a crop plant?

T A W AV T § R v F 0 F it R s e

Decreased tolerance to environmental stresses

A
afazoita qemal & wf et F o
Increased yield
B
I A
Resistance to pathogens
c
ot & Rrg wRerly
Increased tolerance to insect pests
D

BN & vl werftera & of

Correct Ans : A

Q.No: 162
2417770 The main aim of plant breeding is

U1 Yo 1 58T ST &

to make soil fertile

A

rdt ot ST @ F g

to produce improved varieties
B

I7d et 1 IaeA B & fg

to become more progressive
C

sifte wfdie 7= ¥ R

to control pollution
D

wgaw w1 Prifia w3 & R

Correct Ans : D

.No: 163
2417783 ICAR - sugarcane breeding institute is one of the oldest research institute and is situated in

STERATHR - T ot TR T R e Tl & 4 0w § iR Ra 22

Coimbatore, Tamilnadu

A
THiag, afang
Hyderabad, Andhra Pradesh
B
e, St R
Kanpur, Uttar Pradesh
[+
FAR, TR R
Pune, Maharashtra
D

9, TERIE

Correct Ans : A

Q.No: 164
2417785 The process of introducing, stably integration and expression of foreign genes in the plant. produces transgenic plants and is called-

< A R o 1 9w B33, R w0 TR iR aiftreafe @t b gresifie diell 1 S @l § 9k 3 wel o 8-

Gene expression

it sfirafRr

Transcription
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wfdET

Genetic transformation

TR afd

Single cell hybridization

TE BT AH0

Correct Ans : €

Q-No: 165
2417786 The genetic material leads to production of sterile hybrid on crossing with primary gene pool is called-

W S G & T SR TR W TR A @ St S P Iae g & R e o 8-

Primary gene pool

A
wrufie it qa
Secondary gene pool

B
Wl Wi g
Tertiary gene pool

c
T o= g
Gene expression

D

s siftrafer

Correct Ans : €

Q.No: 166
2417787 Which enzyme is responsible for the ripening process?

T @ e 3 R B W Gorw Rrkr 82

polygalacturonase

wrftidE

glycophosphatase

lactase

AR

phosphatase

wiehed

Correct Ans : A

Q.No: 167
2417788 Participatory plant breeding (PPB) is what type of program

weurht urey o (fdid e veR @ wrieE

and ibute to the process at

When farmers are involved in a crop il p with oppartunities to make
A

e frar frofa 83 ofk Rt wolf & srivm wfsar A dimer w3 & st & Wy woe guR Srdwa 7wt g §

Crop improvement programme in which farmers get opportunities to grow crops of different varieties
B

T QUR SrdwA Rrad feart o Rfm el 9 vod 9T o1 omeR frem €

Crop improvement programme in which farmers need to take permission to produce stress resistant crops
c

oA GUR SEHA Rrad Rt $1 a7 wierdieh vt & Iae & g ogai o Y sravgear g

Crop improvement programme in which farmers contribute only in research process at different stages
D

wHE GUR STdHA Rret R Rfim ol & srpeum i & @ girem awa ¥

Correct Ans : A

Q.No: 168
2417790 Apomixis is a form of asexual reproduction that occurs via seeds

AR A T 1 O T & ot el & e & A @

In which embryo develops with fertilization

stages
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forerit Frirea & o Refva drr @

In which development of plants is by vegetative propagation.

B

ol arreafre wad R il w1 R g @

in which embryos develop without fertilization
c

Rrerdf yo1 R e & Rl @ oma &

1In which a plant develops by macroprapagation
D

Rl 7 Dot Az gt Refa g g

Correct Ans : €

Q.No: 169
2417791 The direct manipulation of genes in a plant to change the genetic makeup of cells, including the transfer of genes within and across species boundaries to produce improved variety is called

@ 0 7 5T F DY R B DI S SRS Tpom 7 ae F g we o 2, Rl dew e ¥ A % Rie wonfed! 2 el ¥ iR ol or Sl @ iR i 21

Genetic drift

A
A aFa
Gene modification
B
it wi
Gene fluctuation
c
H A SaR-wE@
Gene flow
D
< qgra1

Correct Ans : B

Q.No: 170
2417793 “Sporophytic incompatibility reaction of pollen is governed by the genotype of the plant on which the pollen is produced, and not by the genotype of the pollen” was first reported by .... in parthenium?

IR ) WRIBRRS SRR WA 39 1 F Sy gri i @ & R R w1 3@ g 2, 7 5 wm $ Sy gre Teel ar RO e man o ... wilfs 3

Hughes, 1950.

A
TN, 1950
Babcock, 1950.
B
ATHIF, 1950
Gerstel, 1950.
c
R, 1950
Meldal, 1950.
D

A4, 1950
Correct Ans : €
No: 171
2418014 Which of the following is the smallest order of class insecta

a3 A P W e o1 =8 e w82

Hemiptera

i

claroptera

TR

Zoraptera

FRTeR

Coleoptera

Laiceiad

Correct Ans : C

Q.No: 172
2418015 Light-stable synthetic pyrethroids, which is registered to control mites
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Fh-for Ridfew TREEE, 1 g B Frfia 3 & fig ol &

Toxaphene
A
ST
Cypermethrin
B
AFTARA
Malathion
C
e
Monocrotophos
D
AR

Correct Ans : B

Q.No: 173
2418022 In the confusion technique pheromone coated paper strips are thrown over an area to

TR THIE H B IS TR R B U 47 W ¥ R s @ A

confuse males insects so that they are unable to locate female insects

A
AN T uftd T § A A e A 1 v @ X o @
confuse male female insect both so that they are unable to locate each other
B
TR T S P B ufta v & Al A 0w g 1 g @ 7 oy €
confuse female insect to repel
c
TR FEY B RS e F R um e ¥
confuse male insect to repel
D

RIS e & Ry wPBa s g

Correct Ans : A

that dissolve the cell walls of target

Q.No: 174
2418023 "Devine” and “Collego” are two agri work by producing toxic
fEar IR PR QP verd ¥ S T DS BT I P ¢ o T 3 PR A Rl B R @
Pheromones
A
Laiicd
Chemical fertilizers
B
IS dvw
Bioherbicides
c
qEEREE
Insecticides
D
FreTrE

Correct Ans : C

Q.No: 175
2418025 The wild growth of is checked with Cochineal insect in Australia
Sfieform # Fia #ie & Ty N el 32 3t o R &
Screwworm
A
w
Aphids
B
Luza)
Eichhornia
C
Eiftar
Opuntia
D
irdfear

Correct Ans : D
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Q.No: 176
2418029 Stomach poisons have gradually been replaced by synthetic insecticides, which are less dangerous to humans and other mammals

B2 & TR A dR-R AR Pl 3 aga Ran w3, ot mell ok om wRuIR ¥ e 37 g @

calcium arsenate

A
B smite
naphthalene

B
ELEcid
chloropicrin

c
TR
rotenone

D
AT

Correct Ans : A

Q.No: 177
2418030 The naturally occurring contact insecticides developed from tobacco

o & Rl Wepiie w9 I 9 T W06 Seae

oDT
A

Eisic

rotenone
B

A

pyrethrum
c

Lirsy'c

nicotine

D

P

Correct Ans : D

Q.No: 178
2418035 The Nobel Prize in Physiology or Medicine 1948 was awarded to Paul Hermann Milller for his discovery of which high efficiency contact poison against several arthropods

fRsfrdieloh a1 AfIRA A NI PR 1948 o &0 TeR Y 3¢ il & FRenw I gar a1 ey ek wigk at @t & for foa wran am)

Pheromone
A

Lo

Malathion
B

Aefar

DDT
c

i

Pyrethrum
D

wrguH

Correct Ans : €

Q.No: 179
2418036 Broad-spectrum Insecticide obtained from neem plant is

i & 0 & T s- VR P 3
pheromane
A
R
Pyrethroid
B
RS
Malathion
c
e
Azadirachtin
D
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sfeEfe

Correct Ans : D

Q.No: 180
2418037 Which pesticides are non-biodegradable and also called recalcitrant pesticides

P A Pes R-9a Fefigd § ok 31 Rbadite Pems f g o §

malathion
A

Henfar

Organachlorines
B

St

dalapon
c

T

Triazines
D

HREIES]

Correct Ans : B

Q.No: 181
2418153 Some plants fulfil their nitrogen requirement by catching and digesting flies and other insects. Such plants are categorized as:

Fo 09 iR IR 3R I ) TSR SR TR AT AT B AASd PR A 1 T Dl B 59 YR ffga R mn g

Carnivorous plants

A
wiwTErd Y
Parasitic Plants
B
hsiciing
Omnivorous plants
c
waferdt gy
Hemiparasites
D

Tt did

Correct Ans : A

Q.No: 182
2418155 Which among the following hormone, is transported in polar manner and also requires carrier proteins?

Profefa & % @5 @ ol a7 gt ol 9, aee SR F a1 S e e g

Ethylene
A
e
Abscisic acid
B
o s
Cytokinin
C
WEErETERE
Auxin
D
iR

Correct Ans : D

Q.No: 183
2418158 Red and Far-red light absorbing, bluish photoreceptor, which is present in the cytosol of plants, is:

TR T YR R T B A A e, e wpred, S hdl F wfewmen d g da g, w

Phytochrome
A
wTEeRe
Cryptochrome
B
fegmm
c Carotenoid
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HdTTs
Chlorophyll
wARMSS

Correct Ans : A

.No: 184
2418159 Which among the following is not a key response shown by cytokinin?

Profofea 7 ¥ S TRwrRPA T o2t 7 v wiafea T 32

Cytokinins delay the senescence of leaves

A
TRAEERA TR g A R wRa ¥
In cell cultures, a high cytokinin-to-auxin ratio promotes the formation of shoots
B
BRE-wR F, T e TRereERE- iR s a3 & T Y agmE 3
Cytokinins stimulate axillary buds to grow into branches
c
gREERE Y it # sl § fehe 83 & Re sifm s
Cytokinins usually the ion of stems
D
WEETHERA AR W 7 & ReR S agrar 3a ¥

Correct Ans : D

Q.No: 185
2418160 Which statement is not true about aquaporins?

THARA & AR H B T By Tl T 8?2

They are located in both the plasma membrane and the tonoplast.

A
3 v wen AR RfFrermardt & fRm €1
They facilitate the movement of water across membranes.
B
¥ Rt kg g1 TRt & ware # gl v ava 81
The water movement through aquaporins is always active.
c
THTORA ¥ a1 A O &1 warg A Wi w9 3 flar @
The abundance of aquaporins in a plant cell varies with environmental conditions.
D

TP 19 F SReT § e B yavar vatavoi aRkfRefdr & wmy agad @ 21

Correct Ans : €

Q.No: 186
2418161 Which of the following model describes translocation through phioem?

Prufifea § & @1 @ wiea wien & Mew | AR 31 U F 82

Sucrose flow model

A
I ware At
Pressure flow model
B
JaTa e Hsd
Phloem loading model
C
wRitg T wisw
Phloem unloading model
D

TR ST wisw

Correct Ans : B

Q.No: 187

2418163 Nitogenase is an important enzyme for nitrogen metabolism and catalyzes nitrogen fixation. However, it is an oxygen labile enzyme. Which of the following pretects nitrogenase from cxygen?

AEEIA AeTaiered ¥ RIT AN 0@ Heaqr SR § OR ARG RiE 1 IaRa X 31 g, 75w v figa Ioke 31 Pnfi@a 7 A S TEdeE A siaivd 3 w9 82

Nodulin
A
EiSEEd
8 Leghemoglobin
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AR

Ammonia
C
St
ATP
D
ATP

Correct Ans : B

Q-No: 188
2418167 The Effect of kinetin in delaying senescence is called as:

PrEARA & gR1 Sfvfan & Rel $3F Yuid 3 Fel ol &

Wickson-Thimann effect

A
Rroem-Reit= wura
Richmond-Lang effect

B
feawis-dm wa
Richmond-Thimann effect

C
asis-fit= wmg
Wickson-Lang effects

D

frwa-dm mma

Correct Ans : B

.No: 189

[1241%171 During the process of photosynthesis, O; is evolved from H;O. This fact was experimentally proved
by-
FEHTHLRAUT Y 9T & &R, 0, H:0 A fadwid i 1 530 a2 1 wienenas §9 4 R
Frarara or-
Ruben and Kamen

A
w3 R T
Melvin Calvin

B
A S
Jan Baptist van Helmont

c
1 dufe o e
Joseph Priestley

D

WRE ded

Correct Ans : A

Q.No: 190
2418173 Which of the following is a difference between chlorophyll ‘a’ and chlorophy!l 'b".

Prafofed 7 & 3 FRfea 'a” iR FRife ‘bt & e iR 3 g 21

Chlarophyll ‘a’ has 4 pyrrole rings, whereas chlorophyll 'b’ has 6.

A

ARG o ¥ 4wt o 8, ol wiRifra b Fe R &1

Phytol tail of chlorophyll ‘b’ is shorter that phytol tail of Chlarophyll *a”.
8

IR b A BrEda 2w TR 'a* #1 wigeia ud B B B

Chiorophyll ‘a’ has methyl group at II pyrrole, whereas Chlorophyll ‘b’ has aldehyde group at II pyrrole
c

AR *a ¥ 11 UTgta W Rrurge wE g 8, wafs siRiftea ‘b’ # (RS g 11 UEdd W e )

Chlorophyll ‘a* has Magnesium ion in the centre of porphyrin ring, whereas Chlorophyll ‘b’ has Calcium
D

A o' F AR R & Fx 3 Mol ora g 2, s Fefee b & Siewraw

Correct Ans : C

Q.No: 191
2419111 “Economics is the Science of Wealth” who gave this definition?

Tg gt &) g e @ nerdara o @ e 8
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J. K. Mehta

A
A ¥, Agar
Marshall
B
arfer
Adam Smith
c
gew Ry
Robbins
D
A=

Correct Ans : €

Q.No: 192
2419112 “Economics is a science” the basis of this statement is

1. Relation between cause and effect
II. Deductive and inductive method for the formations of laws

III. Experiments

"F AT T O B 39 B9 BT YR -
1. PRU 3R 44 3 e @1 dEy
1. Pl &t a7 & fog o ok Soures Ry &t gudm

1L s

Only I
A

FaaL

Only II
B

Faan

Only IIT
c

¥ 1

Al L, I1 and III
D

wft 1,11 3R 111

Correct Ans : D

Q-No: 193
2419113 Which theory is generally included under micro economics?

1. Price Theory
11 Income Theory

IIL. Employment Theory

R w0 A e Rigia 9 e srfure (gt semas) & sfaria wnfa R s 32
1. 71 st

11. 373 fagia

111 IR Rrsm

Only I

FaaL

Only I1

Pt 11

Only 111

¥ 111

All T, IT and III

woft 1,11 R I

Correct Ans : A

Q.No: 194
2419114 Who has given scarcity definition of economics?

spefrRa ) Sl ) ufemar R 4 22
Adam Smith

A
wew Ry

B Marshall
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wrfa

Robbins
c
M=
Robertson
D
ficraint

Correct Ans : €

Q.No: 195
2419122 Opportunity cost is-

TR/ A B....

Cost of supplementary enterprise

A
TS I B AR
Cost of next best alternative foregone
B
W Y Il Revew ot wnra
Cost of cultivation
C
Q3 e
Cost of production
D

IR Bt AT

Correct Ans : B

Q.No: 196
2419123 Optimizing the use of farm resources on an individual farm level. Itis a

ol QY Qa/eH ¥ TR R PR G & ITA T IGZI T ... B

Farm management

A
Qa/ont wduw
Production economics
B
IARA AT
Agricultural marketing
c
P Rwom
Macro economics
D

wuf s () THIATRER)

Correct Ans : A

Q.No: 197
2419124 Variable costs are the sum of..?

1. Marginal cost

II. Fixed cost

III. Average cost

Only I
A

Faar

Only IT
B

¥ 1T

Only IIT
C

P 111

All T, 1T and 11X
D

it 1,11 ok 111

Correct Ans : D
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Q.No: 198
2419125 The variable cost is a component of total cost, another is. ?

1. Marginal cost
1. Fixed cost

III. Average cost

Rad= A $ AT BT TP HCD &, GERT 0eP B, ?
1. i

11. fAfya/RR @i

111 3Fed P

Only I

FaaL

Only II

¥ 11

Only 111

Faar 111

Al T, IT and III

it 1,11 ok 111
Correct Ans : B

Q.No: 199
2419127 In case of fixed cost unit the quantity of output is measured..?

L On the horizontal axis
II. On the vertical axis

III. On the cross axis

T 3T & R G T TG W ) A S 2.2
1. &fost stef

1L GRSy R

IIL. 1 318 R

Only I
Fa 1

Only 1T

Faa 1L

Only IIT

Faa 111

All I, IT and III

ol 1,11 o 111

Correct Ans : A

.No: 200
2419136 The debts which are to be repaid within a short period (a year or less) are referred to as:
1. Current Liabilities
II. Fixed liabilities

II1. Contingent liabilities

R B0l A1 31 @l (0P 7 71 364 FH) F MR TEAIEAI g, 3 .
1. ad9 gang

1. RR et

11 S f &t

Only I

FaA1

Only IT

Faa 1L

Only III

Faa 1

All T, IT and IIT

Wt 1,11 3R 111

Correct Ans : A
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Q.No: 201
2419224 Since which year was the construction of Fort Aguada started?

STgT fa 1 Fmion 5w o & g gon ur?

1534

1534

1609

1609

1701

1701

1825

1825

Correct Ans : B

Q.No: 202
2419227 The Agra Fort is built of -

ST 1 e ot &1 82

Granite

IR

Pink Jaipuri Marble

T TG IR

Red Sandstone

I TG TR

White Marble

Wibg FPHT

Correct Ans : C

Q.No: 203
2419302 Rabi Crops are grown in which of the following seasons?

v 9 v FafafRa 4§ R A 3 3md ard @2

Summer Season

A

wif ¥ dvm

Winter Season
B

Ruck

Rainy Season
c

T BT e

Spring Season
D

Correct Ans : B

.No: 204
2419305 Which of the following activity is a part of the Secondary sector of economic activities?

Fufifea 4 3 21 @ mRfy saffe nlRfnd & Rdas &1 @ e 82

Fishing
A

T

Banking
B

Eicad

Manufacturing
(4

fafmfor

Minin
o 9
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Reut

Correct Ans : €

Q.No: 205

2419314 Who among the following added a new dimension to food security and emphasised the “access” to food through what he called entitlements?

Prafifea & Rea T Qe F TS 741 1A ST AR HiieH 9 g W SR 1, R 95 gwar) wE U

Jean Dréze
A

i 3=

Abhijit Banerjee
B

Sfirefta aeff

Amartya Sen
c

swed

Kaushik Basu
D

DR Oy

Correct Ans : €

Q.No: 206

2419385 Which of the following tennis-players is also known by the nickname “The Ice Man"?

frofafea 3 ¥ e ¢ o & g orgg 37 Iwm ¥ ot S o 82

Roger Federer

A

o s

John McEnroe
B

i AR

Bjorn Borg
c

a3

Jimmy Connors
D

Rorft wii

Correct Ans : €

Q.No: 207
2419506 Formation of a mountain is caused by which of the following forces?

da 1 i Prfafed 7 @ fre @ § wro g 2

Sudden forces

A
HEES I
Diastrophic Forces
B
v R aw
Erosional Forces
C
WA
Depositional Forces,
D

Frgaor

Correct Ans : B

Q.No: 208
2419548 The battle of Plassey was fought between which of the following?

Rt &1 g Rufif@a 3 3 feed @ agr m are

Sirajuddaulah and Robert Clive

A
Rrarggien 3k ad Faga
Mir Jafar and Mir Qasim
B
f R R i
Sirajuddaulah and Mir Jafar
c
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R ot e wwe

Mir Jafar and Robert Clive

R e iR e TR

Correct Ans : A

Q.No: 209
2419553 The policy of ‘paramountcy’ was initiated under which of the following governor general?

Frofafea 7 3 f5a TR SRA & dga arear @1 i g 31w G

Lord Dalhousie

A

g TeRhlt

Lord Curzen
B

wité ol

Lord Hastings
c

it AR

Lord Minto
D

é Pt

Correct Ans : C

Q.No: 210
2419629 Who is the author of the novel "I Shall Not Hear the Nightingale™?

g e Afe R & e IuARy & daw o ¥

Vikram Seth
A
faww ¥
Khushwant Singh
B
gwEa e
Arvind Adiga
C
srfdg sfem
Vishnu Sharma
D

farwy

Correct Ans : B

Q.No: 211
2419641 Who is the author of the book “India Divided"?

3 Rade TEw & due M &2

Dr. S. Radhakrishnan

A

Y . aurpwE

Dr. Rajendra Prasad
B

¥ k% e

Vallabhbhai Patel
[+

e T

Pt. Jawaharlal Nehru
D

Y, AT A A5

Correct Ans : B

.No: 212
2419705 Fundamental Duties were inserted into the Constitution of India by which of the following Amendment Acts?

e @il @ Praffea 7 3 e it sfifym arr ma & e § i R w are

42 Amendment Act
A

42at Wi siftfram

44% Amendment Act
B
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4431 W sfufrm

74* Amendment Act
c

747 T st

78% Amendment Act
D

783t Wi siftfram

Correct Ans : A

Q.No: 213

2419708 Which of the following Amendments to the Constitution of India provided that ten percent or more members of Lok Sabha can requisition a meeting and disapprove or revoke the National Emergency?

IR & TR 7 Pl 3 3 P W e I8 wem S & 6 A F o i a1 s 9w O dow 31 A R T € SR g SIuasTa 31 SRdPR a1 ¥ Y 9l 82

42 Constitutional Amendment

A

423t AR TR

442 Constitutional Amendment
B

4437 WY FE

51 Constitutional Amendment
[+

5137 WU FR

60% Constitutional Amendment
D

60ai wiyur Wi

Correct Ans : B

.No: 214
2419724 At the inception of the Constitution of India, the legal age to eligible to vote was -

URA F HRVA R F T, FaeE F R o 9 @ e 3w o -

18 Years
A

1saf

20 Years
B

20 9

21 Years
c

2191

25 Years
D

25 ¥

Correct Ans : €

.No: 215
2419910 Who out of the following captured Gwalior after the Battle of Panipat in 17617

Frofafea 7 3 e 1761 3 Uriva 1 9T & 918 TIRIR W P B R 41

Mahadji Scindia

A
weresht Riftar
Daulat Rao Scindia
B
v 1 Riftr
Jayaji Rao Scindia
C
wrareht v Riftrar
Ranoji Scindia
D

Rt Riftar

Correct Ans : A

Q.No: 216
2419920 Mark the correct match of tribal dance and their tribe.

S o SR I i 1wt e R w3
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Karma and Saili - Gonds

waf ik A<h - s

Bhagoria - Saharias

aitfie - Rt

Thaapti - Bhils

redt- ofte

Lehangi - Kokru

weht - wvg

Correct Ans : A

Q.No: 217
2419980

Under which of the following campaigns did Rajnath Singh virtually inaugurate more than 57,000 water structures in Madhya Pradesh in February 20212

Profefea # @ fre sfimm & Tea Tormy Rig 3 wadt 2021 7 79 W3 # 57,000 F e s WRamel 1 agerm Igued fran

Jal Hi Jeevan Hai Campaign

o & offe @ ofir

Har Ghar Jal Campaign

W v AR

Jalabhishekam Campaign

Sttt sifiar

Nal Se Jal Campaign

4 { F@ i

Correct Ans : €

Q.No: 218

D

In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select No Error.

The purpose of AMRUT yojana is to ensure that every household has accessed to a tap with an assured supply of water and a sewerage connection.

The purpose of AMRUT yojana is to ensure

that supply of water and a sewerage connection.

every household has accessed to a tap with assured

No error.

Correct Ans : C

Q.No: 219

D

In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select ‘No error’.

A special commando force are being guarded the famous Catholic Church in France.

No error

Catholic Church in France.

are being guarded the famous

A special commando force

Correct Ans : C

Q.No: 220

D

In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select No Error.

Economists argue over the vexed question of how to reducing spending.

how to reducing spending.

Economists argue over

the vexed question of

No error.

Correct Ans : A

Q.No: 221

Select the mest appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

Please turn (off) the volume of the Radio, such that it is not quite so loud.
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B down

D No improvement

Correct Ans : B

Q.No: 222
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

Even as a young boy, he (has lacked) the inclination to go outdoors and play.

A lacks

B was lacking

c lacked

D No improvement

Correct Ans : C

Q.No: 223
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

She prefers coffee (to) tea.

A than

B over

c for

D No improvement

Correct Ans : D

Q.No: 224
Out of the given options, choose the one which is the correct active voice of the sentence given below.

The assignment had not been completed by me.

A 1 have not completed the assignment.

B I had not completed the assignment.

c I had not been completing the assignment.
D The assignment was not completed by me.

Correct Ans : B

Q.No: 225
Out of the given options, choose the one which is the correct active voice of the sentence given below.

Is a letter written by you?

A Did you write a letter?

B Is a letter being written by you?
[ Are you writing a letter?

D Do you write a letter?

Correct Ans : D

Q.No: 226
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice?

People believe that Sneha is a cute girl.

A That Sneha is a cute girl is believed by the peaple.

B That Sneha is a cute girl was believed by the people.

[~ That Sneha is a cute girl has been believed by the people.
D That the people are cute is believed by Sneha.

Correct Ans : A

Q.No: 227
A sentence has been given in Active/ Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Who is knocking at the door?

A By whom the door Is knocked at.

B By whom the door was knocked at.

Cc By who the door Is being knocked at.
D By whom the door is being knocked at.

Page- 147



Correct Ans : D

Q.No: 228

D

Out of the given options, choose the most appropriate word/set of words to fill in the blank.

The boy on the burning deck.

stood

have stood

have stand

has stand

Correct Ans : A

Q.No: 229

D

QOut of the given options, choose the most appropriate word/set of words to fill in the blank.

The boy. the ball.

caught

have caught

have catch

has catch

Correct Ans : A

Q.No: 230

D

Out of the given options, choose the most appropriate word/set of words to fill in the blank.

His outstanding performance. the show.

stole

have steal

have stole

has steal

Correct Ans : A

Q.No: 231

D

Select the most appropriate option to fill in the blanks.

Indulgence in anything may prove to health.

injurious

outspoken

veracity

repetition

Correct Ans : A

Q.No: 232

D

Select the most appropriate option to fill in the blanks.

His success may be attributed to his

highway

colonial

highlight

diligence

Correct Ans : D

Q.No: 233

Select the most appropriate option to fill in the blanks.

Globally the domestic cat one of the most ubiquitous mammals.

is

Correct Ans : A

Q.No: 234
2420206

Which of the following types of coal is called a brown coal among the following?

Fiafifed § F Brd bR & Saa & 3 Faa Sel i 87

Peat
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kid

Lignite
B
Rrmge
Sub-bituminous
[
u-fagirft
Bituminous
D

g

Correct Ans : B

Q.No: 235
2420214 Tanya throws a ball vertically upwards, which rises to a height of 60 m. Which
of the following statements is NOT correct? [Take g = 10 ms'?]

T TF 2 F7 777 FU 61 AR FFAT g, A7 60 iz 1 T 7% = f) Fafafam d a
FIT T AT TET AL 52 [ @IS = 10 TATH-2)

The ball was thrown upwards at an initial velocity of 35 ms'! approx.

A
FAZET T 35 ms F TRNF 377 & 7% 7 A< Ty mam
The time taken by the ball to reach the highest point is 5 seconds.
B
e T I g 9 wgaa F R T g 5 {1
Acceleration is constant throughout the motion.
c
T & IR e R v 1
Velocity is zero at the top.
D

MRImgEE e

Correct Ans : B

Q.No: 236
2420361 Which of the following pairing denoting the mixture of gases in air is NOT correct?

ang # it & Mo 3t B 3 aren Frofafda 7 @ oF-a g vl @ @

Oxygen — 20.09%

A
AT - 20.09%
Nitrogen - 78.03%
B
AZINIAA - 78.03%
Argon - 0.3%
C
HIT - 0.3%
Carbon dioxide - 0.033%
D

FIIT STEHTFATSS - 0.033%

Correct Ans : €

Q.No: 237
2420364 Which of the following is the active component of the air?

Profefea A | $1 ag o1 9fFa TeF 82
Helium

S

Nitrogen

g

Carbon dioxide

FTE STEHFILS

Oxygen

Richics]

Correct Ans : D
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Q.No: 238
2420368 Which of the following mixture is burnt to produce very high temperatures and are used for cutting metals and for welding?

w7 @ R i 1 e o 7 il 3 w9 & wam e o 82

Oxygen and Ammonia

A
St o st
Oxygen and acetylene

B
Sifefter o eRifeed
Oxygen and Nitrous Acid

c
SRl AR g s
Oxygen and Sulphur

D

o AR Ty

Correct Ans : B

Q.No: 239
2420379 Which of the following is a process in which water from any source change into vapour state 'due to heat'?

Prafif@a § 3 21-40 ves ufm @ Rrad R ) W 3 ol i & sror amg s 3 aea S e?

Precipitation

A
oy
Transpitation
B
ATt
Evaporation
c
arafigor
Humidification
D

B

Correct Ans : C

Q.No: 240
2420502 Which of the following diseases can NOT be spread through air?

Profifea § & FH-71 I a1 g T e v 82

Conjunctivitis

A
RO
Cholera
B
B
Mumps
C
FugHTAT
Influenza
D
sy

Correct Ans : B

.No: 241
2420508 Which of the following is most correct about a balanced diet?

TR omeR & AR # Pefifda 7 P W 9w vl T ¥

It should not have fats.

A

T @ T g ARy

It should not have carbohydrates.
B

Tl Frdfeese T e ey

It should have minimum proteins.
c

T e i g el
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It should have car proteins, fats, vi

i prateEde, Mé, T, Rerf, Wi ok e @ Tl

Correct Ans : D

Q.No: 242
2420514 The Aedes Aegypti mosquito can NOT act as a vector for -

Tt gt R e g Aser & w0 § and AE R w82

Dengue
A

3

Malaria
B

wafar

Zika
G

ot

Yellow Fever
D

fer gER

Correct Ans : B

Q.No: 243
2420643 \yhich of the following acids is presentin an ant’s sting?

P % S W o Al & e o e 87

Citric acid
A

WRRE o

Formic acid
B

witdE st

Lactic acid
c

AfFew s

Acetic acid
D

iR ot

Correct Ans : B

Q.No: 244
2420646 Ammonium hydroxide is found in -

ST gREgIauIgS IR S § 7
Bananas
A
ko
Window cleaner
B
et =ft
Vinegar
C
Rt
Milk of Magnesia
D

A2 T gy

Correct Ans : B

Q.No: 245 X .
2420655 Consider the reaction -

and fibres.

Copper sulphate solution (blue) + Iron — Iron sulphate solution + Copper

‘What is the colour of the iron sulphate solution?

fiforar R AR % -

FIR FHE BT G G - ATRA — TR Fetbe BT 91 = HIR

RA Fedhe & Ui B1 & i ¥

Black
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Brown

B
EICR
Green
c
Ll
White
D
e

Correct Ans : €

Q.No: 246
2420658 Galvanisation is the process of depositing a layer of on iron.
TeaTgoieH dlg T B TP WA H B D1 Hfbq B
Mercury
A
it
Oxygen
B
SiRfter
Zinc
c
R
Sodium
D
Wy

Correct Ans : €

Q.No: 247
2420888 Which of the following is an example of a plant which reproduce through its buds?

Fufafed § 3 35 39 N 1 I 3 30 0 Bl & mean | 0o R 32

Beans
A
witmi
Peas
B
X
Pumpkins
c
TR
Potatoes
D
S

Correct Ans : D

Q.No: 248
2420889 Which of the following is not an abiotic component of our surrounding?

ool § F P R SO 3T 3R Te T §7

Microorganisms

A
eerefar
Soil
B
et
Air
¢
g
Temperature
D
s

Correct Ans : A

Q.No: 249
2420891 The joint where the neck joins the head is known as which of the following?

@ oirg ol A R B gt 8, Pafeida 3 3 Rl wwa &
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Fixed Joint

A
e Wiy
Pivotal Joint
B
Ay
Ball and Socket Joint
c
gp-afcerst |y
Hinge Joint
D
R wfy

Correct Ans : B

Q.No: 250
2420903 The pores on the surface of leaves which help to take in the carbon dioxide are known as which of the following?

ot 1 T W T % W P SRS Tew 3 7 7eE FRa ¢, Pafiea 7 9 5 e ¥

Nucleus
A
kool
Cytoplasm
B
BT 5
Stomata
c
o
Cells
D
Hif

Correct Ans : €

Q.No: 251 Four kids P, Q, R and S are up on the ladder. P s further up the ladder than Q, Q is between P and R. If S is further up than P, who is the third from the bottom?
2421091 YRTHAP, Q RINSTIREI N TARIREIQ, PIMARF M IR S, p 5 IMIW e, MIFw A &7

S
-
© R
o J

Correct Ans : B

Q.No: 252 V, W, X, Y and Z are five friends. V, X and Z are fond of Mango. W, X and Y like Apple. V, W and Z like Guava. W, X and Z like Banana. V and Y are fond of Orange. W, Y and Z like Chickoo. Fruits liked by X are

2421093
V, W, X, Y 3R Z 9fa 2R &1V, X 3R Z 3 P 2 31w, X 3R Y AT T T ¥V, W R Z 3G TRIE FRd T W, X 3R Z FA TE FRa g1V AR Y 3l F e &1 w, Y IR 2 I TiiE FRd ¥ X R WIS A §-
A Mango, Apple, Banana.
3, ¥4,
Guava, Orange, Banana.
8 T, ﬂﬂ'iﬁ,%-—él
Banana, Chickoo, Apple .
¢ , F, Gl
o Mango, Chickoo, Guava.

3, frg, sregl

Correct Ans : A

.No: 253
2421122 In the given figure, which number represents how many such advocates are either actor or doctor, but not both?

Actor —— «+—— Doctor

gg

AN

Advocate

@ g onpf A, W ot wsdide @, A a1t Ao & W STRR E, A A1 A @2

RS oe

70
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70

75

75

80

83

83

Correct Ans : €

Q.No: 254

2421144 In the following question, two statements are given each followed by two conclusions I and II. You have to consider the statements to be true even if they seem to be at variance from commonly known facts. You have to decide which of the given

conclusions, if any, follows from the given statements.

Statements:
Some notes are coins.
No paper is note.

Conclusion:

1. Some papers being coins is a possibility.

II. All coins are papers

Profefead vy, ve & & Fepy 1 9R 11 & 9% & $9F RUTR 21 3105 S 71 T 87 R ROR 30 2, o @ 3§ m R &R 9 et A e €11 3ot 98 7 w3 g s Ry e Pt 3 @ o W A, ol # €, @ Ru At & frwan @1

YA

3 e, ¥ 1

¢ R AW, e T

Pread:

1. 3% TR 31 e @ 3t wnam 31
11, Tf R, TR 81

Only conclusion I follows

Faa P 1 3RO v 8

Only conclusion II follows

Faa P 11 SR B §

Neither conclusion I nor II follows

= & e 1 o 7§ 11 argERe v @

Both conclusions I and II follow

2t frasd 1 3R 11 SR FRd ¥

Correct Ans : A

.No: 255
2421152 In the question below are given some statements followed by some conclusions. You have to take given statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the

given conclusions logically follows from the given statements disregarding commonly known facts.

Statements:

No Tulip is Rose

No Rose is Orchid

Only a few Orchids are Jasmines
Conclusions:

L No Tulip is Orchid

II. Some Tulips are Jasmines

A 7 A TS T R IEF I To A R T R Ut Y T Rl Y T W €, 4@ 8 A 19wl | o Wl 2R 31 ol e 3 afew ok i o S o R e 9 i 31wl ARG B W G371 a6 d U R SR H 8

T
ot e A9 A R

P A i T &
Haq po oiiFs WA T
Fred:

L. 3 e s T &
11 $O e SR §

Only conclusion I follow

Fae Fiepd 1 SR aear §

Only conclusion II follows

e Preand 11 reRor Tt &
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Neither conclusion I nor II follows

7 Frpd 17 @ 11 SR aRar @

Both conclusions I and II follow

fred 1 ofR 11 Y RO P

Correct Ans : €

Q.No: 256
2421296 Find the odd number from the given alternatives.

ferw mu et A F fawsyfora wem 3 FifA|

Y
A

Y

3
B

3

[
c

o

1
D

Correct Ans : D

Q.No: 257
2421298 Find the odd one out from the given alternatives.

fu M Rwew A fawm /fim @ FiRd)
DEG)

DEG]

QRTW
JKNQ

JKNQ

YZBE

YZBE

Correct Ans : €

.No: 258
2421303 Find the odd one out from the given alternatives.

R o Rt A & faws sma %1
Bank card
A
Ec o
Debit card
B
M Fr
Credit card
c
iz w1
Memory card
D

Hrd T

Correct Ans : D

Q.No: 259

2421310 Select the correct combination of mathematical signs to replace * signs and to balance the given equation:

72*% 144 * 72 * 6 * 40 * 110

* fag 9 oo w1 & Rl R witeww @ Freifia #1 & R 1finftn fore & wél gm a1 T vy

72*144 %72 *6* 40 * 110
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B

X+ +-=
c

X+ +-=

—FXXx=
D

—FXX=

Correct Ans : €

Q.No: 260
2421319 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be used more than once while each of the letters outside the intersected portion is to be use only once to form

meaningful word(s). If no such word can be formed give X’ as the answer, and if more one such word can be formed, give M’ as the answer, otherwise the second letter of the word will be the answer.

A R L 9y F $T eR A HSHRI A 1F R B Fred gu Ry g ¥ aRDRa 1 A R g sverl $1 0 3 e aR IudiT a1 o Fha1 § veis TRDRA YT $ IR S UdS HER $1 78 Had TS aR Qe e 591 F g Rear e @1 3 e A wies @l
T FHA @I X E, R TR O AR T T T AR, A IR M E, 3T TR BTG HAR IR G

T
A

T

I
B

I

K
c

K

X
D

X

Correct Ans : C

.No: 261
2421323 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be used more than once while each of the letters outside the intersected portion is to be use only once to form
meaningful word(s). If no such word can be formed give "X’ as the answer, and if more one such word can be formed, give M’ as the answer, otherwise the second letter of the word will be the answer.

A2 R g vy F 37 waR N SRl F Ue g B H1ed gu RY e ¥ aiBRa um 3 Re e sl 31 uw § e a) Iud 1 o w6 ¢ dais SR i S q $ udd HaR S ST Saa U AR gl s e forg R s @1 o B A wes el
A EHAT § IR X, 3R A O SR V1 WS S A FHA &, IR M S, I e B G dHeR ITR g

E
A

E

H
B

H

B
[

B

X
D

X

Correct Ans : A

Q.No: 262
2421356 Complete the following series:

Mhz, Ngy, Ofx, Pew, ?

Profefea o @ @ at:
Mhz, Ngy, Ofx, Pew, ?
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Qdv
B

Qdv

Qrm
c

Qrm

Qqn
D

Qqn

Correct Ans : B

Q.No: 263
2421360 From the given responses, find the missing letter in the series.

BBD, CDG, DFJ, EHM, _.

faw o feedt & & Aoft § q@ s1eR A I I

BBD, CDG, DFJ, EHM, __.

FKP
A

FKP

FIQ
B

FJQ

PP
c

FIP

3]
D

3

Correct Ans : C

.No: 264
2421401 Find the missing number in the given analogy:
144:1728::169:?

U T FAEAT # oA T AT FL:
144:1728:: 169 : 7

2079
A

2079

2197
B

2197

3077
C

3077

2917
D

2917

Correct Ans : B

Q.No: 265
2421404 Select the related number from the given alternatives.
97:16::85:?

T v fawedt § ¥ wafda dear a1 aue F
97:16:85:?

21
A

21

44
B

a4

s5
c

s5

81
D
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81

Correct Ans : D

Q.No: 26¢

6
2421448 A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

19, 28, 39, 52, 2, 84

A T e A 7 B, Rl 0@ 0% @ §1 R e Redl f A a8 v Reed 9T S agmE @ @ e

19, 28, 39, 52, 7, 84

39
A

39

52
B

52

67
c

67

84
D

84

Correct Ans : C

Q.No: 267

2421451 A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

8,15, 28,53, 2

A @ srwen @ 7 R, Rrend @@ v g @1 fg g Reed A a8 9 Riow 9T S omgeE B qu e

8, 15, 28, 53, ?

106
A

106

100
B

100

108
c

108

102
D

102

Correct Ans : D

Q.No: 268
2421507 What should come in place of the question mark (?) in the following question?

6+6x9+6-9%x6-6+6x9=?

Frafaf@a us & wyarae R () & =1 R 991 3 FIiRe?
6+6x9+6-9x6-6+6x9=?

7
A

7

8
B

8

9
c

9

10
D

10

Correct Ans : €

Q.No: 269
2421516 What should comein place of the question mark (?) in the following question?
280+ 14x15+257=22+20%0f 125

PR vy # wyaTae g () T R R A AR

280+ 14 x 15 =253 =71+ 125 B 40%
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25

A

25

30
B

30

35
c

35

40
D

40

Correct Ans : B

Q.No: 270
2421549 Find the largest fraction of the following fractions?

Frafeifea el % & w0 w31 i 9 P2

192
21

192
21

189
19

189
19

146
17

146
17

261
28

261
28

Correct Ans : B

Q.No: 271
2421554 Find the largest fraction cf the following fractions?

frufafea Rl & 3 ¥l w91 it 3@ Bifm?

55
98

98

12
23

12
23

29
57

29
57

37
72

37

72

Correct Ans : A

.No: 272
2421594 Find the sum of digit of smallest number which when divided by 2, 3, 4, 5 & 6 leave remainder 1 in each case.

TE B A B Fem F I 31 4 T P R 2, 3, 4, 5 R 6 F HM A W A R A Jva 1 A @

9
A

9
B 8
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5
[

5

7
D

7

Correct Ans : D

Q.No: 273
2421631

c

D

1
1
5
5
o
o
2
2

Correct Ans : B

Q.No: 274 A 4-digit number is formed by repeating a 2-digit number such as 2424, 1212 etc. Any number of this furm is always exactly divisible by ?
2421654 UF IR P! Pt TN P 2 3P 31 TRIGR GRT T T 8, I 2424, 1212 TAR| T ISR 71 21 2} won B 7 3w F 7 gfa: Rk geit?

©g
o
. 8
. i

Correct Ans : D

.No: 275
2421685 A test consists of a total of 100 questions from three sections QA, LR and VA. All
questions carry equal marks. QA section contains 35 questions, LR section contains
35 questions and VA section contains 30 questions. A student answered 60% from QA
section, 40% from LR section and 50% from VA section correctly. Exactly how many
more questions should he have answered correctly to get the pass percentage of 65%
in the test?

@ &R A A IR QA, LRA VAF T 100 R | W Al W FAH 3T ¥ QA IW
H 35 WA, LR YT 7 35 e 3 VA IR F 30 RA &1 F T & QA TR &/ 60%, LR
FFA T 40% AR VA FF F 50% A F SR T Rw) wem F 39 i 65 wierr w7 seciot
SRRIT 9o T & AU fFas W A F oarg ®Q X Rw

20
A

20

15
B

15

24
[+

24

19
D

19

Correct Ans : B

Q.No: 276
8
2421712 If selling price of a bag is = times its cost price, the Profit percent on it is:
8 .
AR F A1 A, THh AR A T AT §, 7 i 1ot 71 X
120%
A
120%
160%
B
160%
40%
c
40%
60%
D
60%

Correct Ans : D
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Q.No: 277
2421728 Animesh sells two machines at Rs. 396000 each. On one he Gains 10% and on the other he loses 10% His Profit or

Loss percentage in the whole transaction is:

HAT 396000 7.5 #RieT A1 &T A & AT AT ¥| To FRNT T I 10% 7 TR GY & U G@k AN F IR W 10% A
& e &, F g0 Q el A w07 A1 @I St e

No Gain No loss

A

A e T ar g

1% Loss
B

1% gIfer

1% Profit
c

1% W

8% Profit
D

8% =

Correct Ans : B

Q.No: 278
2421754 A sum of Rs. 16 gives a simple interest of Rs. 2.52 in 2 years and 3 months. The rate of interest per annum is:

F. 16 I IR W 2 7 3 T BT WURY A F. 2.52 3, AW AR B

1,

55%
A

8%
B

8%

7%
c

7%

6%
D

6%

Correct Ans : C

Q-No: 279
2421842 The ratio of money with Ram and Gopal is 7:17 and with Gopal and Krishan is 7:17. If Ram has Rs.490, Krishan has-

I AR A & &9 1 FT 3G 7:17 & 3R M0 3R PO & S ¢F HT 396 7:17 81 W IHF UM Rs. 490 W, N PO F UL -

Rs. 2890
A

Rs. 2890

Rs. 2680
B

Rs. 2680

Rs. 2330
C

Rs. 2330

Rs. 1190
D

Rs. 1190

Correct Ans : A

Q.No: 280
2421846 3 brothers divided Rs. 1620 among them in such a way that the share of second is equal

5
to = of share of two combined. What is the share of the second one?

T ST o T 3 1620 T T I O Y o G 3 Y vy Y 4T %m;mfmf—z o gay

S o R e 87
Rs. 1170
A
1170 9
Rs. 450
B
450 ¥
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Rs. 540

c
540 TW
Rs. 500
D
500 TUH

Correct Ans : B

Q.No: 281
2421930 In what ratio must a grocer mix two varieties of tea worth Rs.60 a kg and Rs. 65 a kg so that by selling the mixture

at Rs. 68. 20 a kg he may gain 10%?

T RO ATl F 60 T gfa R 3R 65 T afy el el I & 3 Rt Y R st A e g, @ faser
& 68.20 T 9 el & ATHT a7 10% & ATH FAT FH?

3:2
A

3:2

3:4
B

3:4

3:5
c

3:5

4:5
D

4:5

Correct Ans : A

Q.No: 282
2421983 Anni and Banni at the same time with speed of 40 km/hr and 50 km/hr

respectively. If in covering the journey Anni takes 15 minutes longer than Banni,
the total distance of the journey is:

el T el O faa T § OF @ W FAn 40 aur 50 feelveer Fr afy & acen
SRFS FRA B e Gl 77 F A @l A 15 e @ o s aar 1 a9 gl
fora=tr gt

40 km

40 fft

48 km

as fmft

50 km

s0 fft

52 km

s2 fedft

Correct Ans : €

Q.No: 283
2422010 Changu & Mangu can do a work in 20 & 30 days. Both together start the work. After some days Changu left the work. The rest work done by Mangu in 10 days. After how many days Changu left the work.

7 3R 77 et F Y 20 T 30 AT A R TR B W WY I TE TR 1 PO RAl 1€ I 7 OIS A §1 A9 S A7 10 A F g1 e {1 wgy W 3 R R a1e wm e

4 days
A

afa

6 days
B

6fe

8 days
c

sfe

2 days
D

2f=

Correct Ans : €

Qs 284 98 G &, Rt SxRue A Sifiw ug wur 81 arfe wyw wg o @ 9k IeRe @1y §
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A TELE FHH

B & S
c agdife e
D ST AR

Correct Ans : A

QN 28 R 71 e T T 2

A R:
8 e
c i
D i

Correct Ans : D

Q.No: 286

EH, T, B, TR T S T6 9 TR @ 991 & 6Et 96 87

A TS T
B WFaE® |
c HferaTa®
D A T

Correct Ans : C

Q.No: 287 R ——
A o

8 o]

[ _=

D geaaras W= Tl 2

Correct Ans : A

Q.No: 288
PrefafRa  § ~srdvs” o1 gafrardt wes @ 27

A et
B et
c e
D w

Correct Ans : A

Q.No: 289

frfifea A & we-gm “em-em” & T orf Vg H1 79T FRT-

A Hge - affw

] wrerer - framdf

c IR ~ amrRu

D framdf - srrwa aafeq

Correct Ans : A

Q.No: 290
Frfifea 4 A arge ot Ot o &1 9 -

A T
B Liisicid
c et
D Fufere

Correct Ans : A

Q.No: 291

FrefafEa d 3 guiRe T & TSR B §2
A i g
B Feaicid
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c EeCiciid

D FREEE

Correct Ans : €

AN 252 o 2 i 2 1 7 R
A kg
B et
c o
o @

Correct Ans : D

QN0 293 R 8 ot ST 5 ) T 1 e R
A TRk quf st ght @ wwra ot ot @t

B g e & & A

c Ram @I

D T  f a8 wa w1 Wl

Correct Ans : €

Q.No: 294 PR ¥ A g R T o = w3
A @

B A=

c e

D BEI

Correct Ans : €

R N V- R ——— Y

A wFF 3 7 G w81

B T Rree T 3R T & smant

c =t & &8 T RR TR B o foam
D A3 T wraw W @

Correct Ans : B

QN30 ot A2 R sz 0 e ) 2 e ), (),
(€) ¥R (D) i T M 1 MUt T T § FF A & 5w 1 A s, 1, o, T F T v o ¥t ave 9 @ R o 78 81 ARk 3R ot & aren & el o um 7 @ St 9% v 1 i € omue IR §1 R A TReRa § @ o 3R T 1 e ot
8w s /(A) Faw Ty (e)d R1/(c) AR T (D)

A A

B B

c c

D o e T

Correct Ans : B

QN0 297 R A g e 1 o G
A I TeTH Ao T

B @ 7R A5 T 5

c R TR SmTEdE e Bl

D T T T T AR 2

Correct Ans : €

N 28 et R 71 g ) st 5 o 1 PR A 4 e o g e 2
A s g
B TAHARES e
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c T R

D i R

Correct Ans : D

QNo 299 e 14 vt R 7 o~ T B
A e 7@ S

B e et GemT

c T T g

b TR T TR TN

Correct Ans : D

QN 300 R 1 v i 7 and o 90 o g 82
A siun ate Yt ek Rk oreeft it &1

. T Wl W, ST i 1 R

. R g1 R ura ek Wl Aa

5 IR AR < T iR A g o

Correct Ans : A
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